Copyright Warning & Restrictions

The copyright law of the United States (Title 17, United States Code) governs the making of photocopies or other reproductions of copyrighted material.

Under certain conditions specified in the law, libraries and archives are authorized to furnish a photocopy or other reproduction. One of these specified conditions is that the photocopy or reproduction is not to be "used for any purpose other than private study, scholarship, or research." If a, user makes a request for, or later uses, a photocopy or reproduction for purposes in excess of "fair use" that user may be liable for copyright infringement,

This institution reserves the right to refuse to accept a copying order if, in its judgment, fulfillment of the order would involve violation of copyright law.

Please Note: The author retains the copyright while the New Jersey Institute of Technology reserves the right to distribute this thesis or dissertation

Printing note: If you do not wish to print this page, then select "Pages from: first page # to: last page #" on the print dialog screen



The Van Houten library has removed some of the personal information and all signatures from the approval page and biographical sketches of theses and dissertations in order to protect the identity of NJIT graduates and faculty.

ACTIVITY COEFFICIENTS OF GASES IN BINARY MIXTURES

BY

JOHN G. ENGLEMAN

•

A THESIS SUBMITTED TO THE FACULTY OF THE DEPARTMENT OF CHEMICAL ENGINEERING OF NEWARK COLLEGE OF ENGINEERING

> IN PARTIAL FULFILLMENT OF THE REQUIREMENTS FOR THE DEGREE

> > OF

MASTER OF SCIENCE IN CHENICAL ENGINEERING

NEWARK, NEW JERSEY

ABSTRACT

Engleman, John G. - Activity Coefficients of Gases in Binary Mixtures, Calculated by the Methods of Joffe, of Edmister and Ruby, and of Redlich et al. - Thesis, submitted to Newark College of Engineering April 30, 1956.

The theory and usefulness of vapor phase activity coefficients have been developed. The equations, charts and calculation procedures to be used for the three methods are included with a set of sample calculations in their most convenient form.

Activity coefficients for 236 experimental points have been calculated by the three methods for both components of four binary gaseous systems. These systems are Argon - Ethylene (36 points), Hydrogen -Nitrogen (32 points), Methane - Ethane (112 points) and Methane n Butane (56 points). Wide ranges of pressure, temperature and mol fraction are included.

The % deviations of calculated from experimental activity coefficients have been determined. From these deviations and a time study, the general and specific utilities of the three methods have been estimated.

Results indicate that the method of Redlich et al is of greatest all-round utility. It is applicable to all substances and conditions tested herein, and its overall accuracy is superior to the other two methods. The method of Edmister and Ruby takes only 1/3 the time but appears to be limited to the light hydrocarbons for which it was derived. Its accuracy is generally the equal of that obtainable by Redlich's method. The method of Joffe takes 20% longer than that of Redlich et al, and while also of all round utility, seldom approaches it or the method of Edmister and Ruby in accuracy.

APPROVAL OF THESIS

FOR

DEPARTMENT OF CHEMICAL ENGINEERING

NEWARK COLLEGE OF ENGINEERING

BY

FACULTY COMMITTEE

APPROVED;

MEWARK, NEW JERSEY

JUNE, 1956

PREFACE

The methods of Joffe, Edmister and Ruby, and Redlich et al for predicting vapor activity coefficients for components of a gaseous mixture from pressure, temperature and composition data were applied to four systems for which experimental values were available in the literature.

ACKNOWLEDGEMENTS

I would hereby like to acknowledge and express my appreciation to -Dr. Joseph Joffe, who suggested the topic and helped immeasurably through his timely assistance and advice.

Dr. Otto Redlich who furnished data from which time saving charts could be plotted.

TABLE OF CONTRACTS

ł

Ŧ

	Page
Introduction	1
Equations and Calculation Procedures	10
Discussion of Results	
General Results	15
General Conclusions	16
Specific Results	19
Refinements	25
Appendix	
Sample Calculations	27
Figures	34
Tables	39
Notation	83
References	85

LIST OF FICURES

Figure No.		Page No.		
1	Generalized Temperature - Composition Function for			
	Eydrocarbon Vapors - sketch of Fig. 1 of (7) .	¥*		
	θ^{\vee} vs. T_r and b_r Hethod 2.			
2	Generalized Temperature - Composition Function for	25		
	Nethane Vapor - sketch of Fig, 2 of (7),	37		
	e ^v vs. T _r and b _r . Nethod 2			
3	Generalized Activity Coefficients for Vapor Mixtures -	36		
	sketch of Fig. 3 of (7),			
	ϕ va, P _r and Θ^{V} , Bethod 2,			
4	Generalized Chart for Determining Parameter	27		
	$\log \tilde{\phi}$ - sketch of Fig. 15 of (19),			
	$\log \bar{\phi}$ vs. B P and A ² /B. Method 3.			
5	Generalized Chart for Determining Persmeter			
	u - sketch of Fig. 16 of (19).	5(
	u wa, B P and A ² /B, Method 3			
б	Generalized Chart for Detormining Parameter	38		
	w - sketch of Fig. 17 of (19).	20		
	v vs, B P and A ² /B. Method 3.			
7	Generalised Chart for Determining Z.	38		
	Sketch from data by authors of (19)	<u>.</u>		
	Z vs. B P and A ² /B. Method 3			

vi

LIST OF TABLES

Table No.

Title

1	Deviation of Calculated Activity Coefficients From	39	
	Experimental . Argon - Ethylene System at 25° C		
2	Deviation of Calculated Activity Coefficients From	40	
	Experimental. Hydrogen - Mitrogen System at 0° C.		
3	Deviation of Calculated Activity Coefficient From	41	
	Experimental. Hydrogen - Nitrogen System at O ^O C.		
	Pseudocritical Constants used for Hydrogen.		
4	Deviation of Calculated Activity Coefficients from	42	
	Experimental. Methane - Ethane System.Summary		
	for 21, 54.6, 88. and 121.2° C.		
5.	Deviation of Calculated Activity Coefficients from	1	
	Experimental. Methane-Sthane System at 21° C.	43	
6	Deviation of Calculated Activity Coefficients from	հհ	
	Experimental. Methane-Sthane System at 54.6° C.		
7	Deviations of Calculated Activity Coefficients from	45	
	Experimental. Methane-Ethane System at 88° C.	*	
8	Deviations of Calculated Activity Coefficients from	45	
	Experimental. Methane-Sthane System at 121.3° C.		

Table

No.

Page No.

Title

- 9 Deviation of Calculated Activity Coefficients from
 46
 Experimental. Methane-n Butane System. Summary for
 21, 54.6, 88 and 121.3° C.
- 10 Deviation of Calculated Activity Coefficients from 47 Experimental. Methane-n Butane System at 21 and 54.6° C.
- 11 Deviation of Calculated Activity Coefficients from 48 Experimental. Methane-n Butane System at 88° C.
- 12 Deviation of Calculated Activity Coefficients from 49 Experimental. Methane-n Butane System at 121.3° C.
- Experimental and Calculated Activity Coefficients
 Argon Ethylene System at 25° C and Argon mol fraction
 0.2.
- 14 Experimental and Calculated Activity Coefficients 50 Argon - Ethylene System at 25° C and Argon mol fraction 0.4.
- 15 Experimental and Calculated Activity Coefficients
 Argon Ethylene System at 25° C and Argon mol fraction
 0.6.

Table No.

Title

- 16 Experimental and Calculated Activity Coefficients 51 Argon - Ethylene System at 25° C and Argon mol fraction 0.8.
- 17 Experimental and Calculated Activity Coefficients Hydrogen - Nitrogen System. Hydrogen at 0⁰ C and mol fraction 0.2, using both normal and pseudocritical constants of Hydrogen.
- 18 Experimental and Calculated Activity Coefficients 52 Rydrogen - Nitrogen Sytem, Nitrogen at 0° C and mol fraction 0.8, using both normal and pseudocritical constants of Rydrogen.
- 19 Experimental and Calculated Activity Coefficients 53 Hydrogen - Nitrogen System. Hydrogen at 0° C and mol fraction at 0.4, using both normal and pseudocritical constants of Hydrogen.
- 20 Experimental and Calculated Activity Coefficients 53 Hydrogen - Nitrogen System. Nitrogen at 0° C and mol fraction 0.6, using both normal and pseudocritical constants of Hydrogen.

52

1x

Table No.

Title

- 21 Experimental and Calculated Activity Coefficients Hydrogen - Nitrogen System. Hydrogen at 0° C and mol fraction 0.6, using both normal and pseudocritical constants of Hydrogen.
- 22 Experimental and Calculated Activity Coefficients 54 Hydrogen - Nitrogen System. Nitrogen at 0° C and mol fraction 0.4, using both normal and pseudocritical constants of Hydrogen.
- 23 Experimental and Calculated Activity Coefficients 55 Hydrogen - Nitrogen System. Hydrogen at 0° C and mol fraction 0.3, using both normal and pseudocritical constants of Hydrogen.
- 24 Experimental and Calculated Activity Coefficients 55 Hydrogen - Nitrogen System. Nitrogen at 0° C and mol fraction 0.2, using both normal and pseudocritical constants of Hydrogen.
- 25 Experimental and Calculated Activity Coefficients 56 Methane - Ethane System at 21° C and Methane mol fraction 0.319.

54

X

Table No.

Title

26	Experimental and	Calculated Activity	y Coefficients	56
	Methane - Ethane	System at 21° C and	l Methane mol	r
	fraction 0.555.			

- 27 Experimental and Calculated Activity Coefficients 57 Methane - Ethane System at 21° C and Methane mol fraction 0.738
- 28 Experimental and Calculated Activity Coefficients 57 Methane - Ethane System at 21° C and Methane mol fraction 0.882.
- 29 Experimental and Calculated Activity Coefficients 58 Methane - Ethane System at 54,40 C and Methane mol fraction 0.319.
- 30 Experimental and Calculated Activity Coefficients 58 Nethane - Ethane System at 54.4° C and Methane mol fraction 0.555.
- 31 Experimental and Calculated Activity Coefficients 59 Methane - Ethane System at 54.40 C and Methane mol fraction 0.738.

xi

Title

32	Experimental and Calculated Activity Coefficients	59		
	Methane - Ethane System at 54,4° C and Methane mol.			
	fraction 0.882.			

- 33 Experimental and Calculated Activity Coefficients 60 Methane - Ethane System at 88° C and Methane mol fraction 0.319.
- 34 Experimental and Calculated Activity Coefficients 60 Methane - Ethane System at 88° C and Methane mol. fraction 0.555.
- 35 Experimental and Calculated Activity Coefficients 61 Methane - Ethane System at 88° C and Methane mol fraction 0.738.
- 36 Experimental and Calculated Activity Coefficients 61 Methane - Ethane System at 88° C and Methane mol fraction 0.882.
- 37 Experimental and Calculated Activity Coefficients 62 Methane - Ethane System at 121.2° C and Methane mol fraction 0.319.
- 38 Experimental and Calculated Activity Coefficients 62 Methane - Ethane System at 121.2° C and Methane mol fraction 0.555.

xii

TABLES (Cont'd.) LIST OF

Table No.

Title

39	Experimental and Calculated Activity Coefficients	63
	Methane - Sthane System at 121.2° C and Methane mol	
	fraction 0.738.	

- 40 Experimental and Calculated Activity Coefficients 63 Methane - Ethane System at 121.2° C and Methane mol fraction 0.882.
- 41 Experimental and Calculated Activity Coefficients 64 Methane - n Butane System at 21 and 54.6° C. Methane mol fraction as indicated.
- 42 Experimental and Calculated Activity Coefficients 65 Methane - n Butane System at 88° C, Methane mol. fraction as indicated.
- 43 Experimental and Calculated Activity Coefficients 66 Methane - n Butane System at 121° C, Nethane mol fraction es indicated.
- 44 Experimental and Calculated Activity Coefficients 67 Ethane - Ethylene System (v-1) at -18°C.
- 45 Experimental and Calculated Activity Coefficients 67 Methane - n Butane System (v-1) at 21° C.

Table No.	I	Page No.
	Title	
46	Ranges of Method 1 Parameters for All Systems	67
47	Ranges of Method 2 Parameters for All Systems	6 8
48	Ranges of Method 3 Parameters for All Systems	69
49	Ranges of Parameters on Method 1 Generalized Charts	70
50	Ranges of Parameters on Method 2 Charts	71
51	Ranges of Farameters on Method 3 Charts	71
52	Critical Constants and Boiling Points of Components of all Systems.	72
53	York and Weber's Data for $\triangle H/Tc$ Correction Factor \emptyset	73
54	AH/Te Correction Factor () for Methane - Ethane System, Methane mol fraction 0.319 and 0.555	73
55	Effect of Ó Correction on Methane - Ethane System Activity Coefficients - 21° C and Methane mol fraction 0.319	74
56	Effect of ϕ Correction on Methane - Ethane System Activity Coefficients - 54 ^o C and Methane mol fraction 0.319	7 5

xiv

LIST OF TABLES

Table No. Page No.

Title

- 57 Effect of O Correction on Methane Ethane System Activity 76 Coefficients - 88° C and Methane Mol fraction 0.319.
- 58 Effect of () Correction on Methane Ethane System Activity 77 Coefficients - 121° C and Methane mol fraction 0.319.
- 59 Effect of Ø Correction on Mathane Ethane System Activity 78 Coefficients - 21° C and Mathane mol fraction 0.555.
- 60 Effect of O Correction on Methane Ethane System Activity 79 Coefficients - 54° C and Methane mol fraction 0.555.
- 61. Effect of \oint Correction on Methane Ethane System Activity 80 Coefficients - 88° C and Methane mol fraction 0.555.
- 62 Effect of (Correction on Methane Ethane System Activity 81 Coefficients - 121° C and Methane mol fraction 0.555.
- 63 **Solutions for Methane Ethane System Activity Coefficients** 82 in Tables 55 through 62, inclusive.

XV

INTRODUCTION

The fugacities of components of gaseous mixtures are useful in studying chemical equilibria and phase composition. While this property may be determined experimentally for each component from mixture P-V-Tcomposition data, thermodynamic methods for prediction have great utility where experimental data are not available, or for extrapolation and interpolation.

A basic thermodynamic approach is the Lewis and Randall Rule for Fugacity, based on the law of additive volumes. It states that the fugacity of a component is equal to the product of the fugacity of the pure component at system temperature and pressure times its mol fraction. However, this rule loses accuracy as pressure increases, and more advanced methods are required.

Three such methods have been selected for evaluation in four binary gaseous systems for which experimental values of component fugacities have been determined (9, 17, 21, 23). Both the experimental and predicted results are presented in the form of activity coefficients rather than fugacities (Tables 13-45). The activity coefficient is defined as a component's fugacity divided by the system pressure and component mol fraction. (Eq. 1)

$$\phi_{\gamma l} = fn/Py_n \tag{Eq. 1}$$

Before discussing the three methods of calculation tested in this paper, further background on the utility of fugacities and activity coefficients is in order. Component fugacities can be used to predict the Thermodynamic equilibrium constant Kr for gaseous reactions as defined by the relationship

$$\frac{K_{f}}{(f_{1})} = \frac{(f_{3})(f_{4})}{(f_{1})(f_{2})}$$
(Eq. 2)

which is based on the typical reaction $1 \neq 2 = 3 \neq 4$. This was done by Joffe in his paper (15). Also, activity coefficients for each component in each of the coexisting phases can be used to predict K'values (vaporization equilibrium constants) for each component in vaporliquid systems. Existing correlations for predicting component K values (vaporization ratios) directly without the intermediate calculation of activity coefficients for each phase are valuable, but it is the feeling of the authors of (7) and (19) that the more basic approach described below is preferable.

It is felt that the value of thermodynamic analysis lies in extending easily obtained experimental values for binary mixtures near atmospheric pressure to multi-component systems at higher or reduced pressures. A vapor phase activity coefficient for each component and another activity coefficient for each component in the liquid phase would be the most useful forms of fundamenta. wata, free from the limitations of the original experiment. The activity coefficient of the vapor would reflect only the properties of the vapor phase and would not depend on the liquid phase, and conversely. Each could be manipulated to give partial thermodynamic properties of the components in both phases, and could be combined to yield K*-values. (See Equation 5) Correlations of X-values, while valuable for predicting phase equilibria, have the disadvantage that they cannot yield activity coefficients for either phase and thus cannot predict

partial thermodynamic properties. The vaporization ratio K for a component of a mixture is defined as the ratio of its mol fraction in the vapor phase to its mol fraction in the liquid phase.

$$K_n = y_n / x_n$$
 (Eq. 3)

Since the coexisting phases are in equilibrium when $f_1 \equiv f_v$, f_1 and f_v

$$\frac{\mathbf{x}_{n} = \mathbf{f}_{nv} / \mathbf{x}_{n}}{\mathbf{f}_{nl} / \mathbf{y}_{n}} \qquad (Eq. 4)$$

can be calculated from P-V-T- composition data on mixtures, using thermodynamic relationships and an equation of state. Values of y_n and x_n are obtained from vapor-liquid equilibrium data.

For correlation purposes a vaporization equilibrium constant K' is defined by Equation (5) for a given component (subscript n omitted).

$$\begin{array}{c} \mathbf{K}^{*} = \begin{bmatrix} \mathbf{f}_{1} / \mathbf{P}^{*} \\ \mathbf{x} \\ \hline \mathbf{f}_{v} / \mathbf{P}_{y} \end{bmatrix} \begin{bmatrix} \mathbf{P}^{*} \\ \hline \mathbf{P} \end{bmatrix} \qquad (\mathbf{E}\mathbf{q}_{*} \ 5) \end{array}$$

In Equation (5), $f_{\parallel}/P'_{\times}$ is the activity coefficient of the component in the liquid phase and f_{\vee}/p_{\vee} is its activity coefficient in the vapor phase, P'/P is the Recult's Law K-value, which is defined as the vapor pressure of a component at temperature T, divided by the total system pressure at that temperature. The denominator of each activity coefficient may be considered its standard reference state. For the liquid phase this will be the partial vapor pressure (Recult's Lew) and for the vapor the partial pressure (Dalton's Law). These choices of standard state are logical and convenient since the ratio of activity coefficients is then a correction term for the Recult's Law K-value, P'/P. Serious attempts have been made to achieve prediction of K'-values by first predicting an activity coefficient for each phase. Among other investigators, Edmister and Ruby (7) and Redlich et al (19) have presented methods for this evaluation. Their liquid phase calculations are not discussed since this paper is limited to an evaluation of gas phase activity coefficients. Nevertheless it should be kept in mind that the ultimate intention of (7) and (19) in their papers is to successfully predict K'. This paper is to determine the applicability of their vapor phase correlations to prediction of component activity coefficients in the four purely gaseous systems. A brief check of the vapor correlation on the two two-phase systems is undertaken only parenthetically. Multicomponent systems have been omitted from this paper due to its limited scope.

The four gaseous systems selected are listed below, with the designation used to indicate each in the balance of this paper.

A.	Argon	٠	Ethylene	(9)		System	A		Z
B.	Hydrogen	*	Nitrogen	(17)	**	System	Ħ	-	N
¢.	Methane		Sthane	(23)	**	System	X	*	Ľ
D.	Methane	-	n - Butan	e(21)		System	M	*	B

The three methods used for predicting activity coefficients are listed below, with the designation used to indicate each in the balance of this paper.

A. Method of Joffe (19) - Method 1
B. Method of Edmister and Ruby (7) - Method 2
C. Method of Hedlich, Kister and Turnguist (19) - Method 3

The experimental values were determined by the authors of the reference articles in basically the same fashion for each of the four systems. The total or specific volume of gaseous mixture was measured and from this the partial volume of each component calculated. By graphical intergration of this or another partial property with respect to system pressure, the free energy, fugacity or activity coefficient of a component was determined. Free energy was converted to fugacity by the relationship.

$$\log f_n = F_n/2.303 \text{ RT}$$
 (Eq. 6)

Variations and combinations of the above procedures were used by the authors of the four sources of data, in each case utilizing experimental P - V - T - composition data. The volumetric data of Masson and Dolley (16) was converted to component free energies by Gibson and Sosnick (9) for system A - E. The volumetric data of Bartlett (2) were converted to fugacities by Merz and Whittaker (17) for system H - N. Sage and co-workers performed all experiments and calculations to report fugacities for systems M - E (23) and N - B (21).

Data were found in the literature for several systems experimentally determined in the two-phase or vapor-liquid regions. Smoothed P - V - T composition values and activity coefficients for Ethans - Ethylene vaporliquid equilibria were reported in (10) and vapor fugacities were calculated in the conventional manner from volumetric data of York (26) and of Barkelow et al (1). The other system was that of Methane and n-Butane in the two phase region (22), with the vapor fugacities established using some unpublished data. These two systems have been segregated from the four purely gaseous systems.

Only limited calculations on these systems have been made in the present study by the three methods, in view of the disappointing results, and will be found labeled System "(E = E)" v-1 for Ethane-Ethylene and System "(M = B)" v-1 for Methane - n Butane.

Methods 1, 2 and 3 have been applied to 255 points in the six systems. Joffe's Method 1 which is applicable only to gaseous mixtures, and the vapor correlation of (7) and (19), Methods 2 and 3 respectively, are briefly described below.

Method 1 involves determining a fugacity for the mixture based on generalized charts and Kay's molal pseudoreduced relationships for mixtures. The fugacity of a component is calculated by applying two correction terms to f_m in equation 8, found on page 10. Each is based on the deviation of the component's critical constants from the pseudo-critical constants of the mixture, and on the magnitude of the mixture's compressibility factor and enthalpy correction due to pressure. Z_m and $\Delta H/T_{cm}$ are read from generalized charts at the pseudoreduced mixture properties, as is the value of f_m .

Method 2 has as its basis the fugacity values of Benedict et al (3) for twelve light hydrocarbons, at pressures of up to 3600 psi. These were given in (3) on some 276 charts. Edmister and Ruby (7) have reduced the number of charts to six, based on a generalized correlation giving vapor and liquid activity coefficients as functions of $T_{\rm YR}$, $P_{\rm YR}$ and $b_{\rm YR}$ (reduced boiling point). The use of boiling point as a parameter may be considered as taking into account the effects of molecule size.

For mixtures other than the twelve light hydrocarbons, such as napthenes or aromatics, application of an unspecified correction for differences in molecular character is recommended (7). A special chart is provided for Methane vapor and another for Methane liquid. Only the three charts applicable to vapors are used in this paper.

Method 3 is taken from the paper of Redlich et al (19), in which may be found an excellent presentation concerning liquid activity coefficients. The present paper, however, treats only the vapor phase procedure, described next.

Instead of employing the Benedict equation of state which requires fairly extensive data on pure substances, and somewhat lengthy calculations, some accuracy was sacrificed to minimize calculations and data requirements by utilizing an approximate equation of state (20).

 $P = \frac{RT}{(v-5)} - \frac{a}{V(v+5)(T)^{d.5}} \quad (Eq. 7)$

Where experimental data exist for a specific case the authors (20) indicate that insertion of this data into Equation (7) will lead to improved accuracy for calculations based on this equation. A number of relationships and a subsequent calculation procedure have been developed from it, including a set of specialized generalized-type charts.

The calculation procedure involves use of generalized charts as by Method 1, special charts having been developed specifically for this application by Redlich et al. While the accuracy of Methods 1 and 3 is limited by the failure of the theory of corresponding states, this limit is closely approached by both methods. It is stated in (19) that Method

3 has several practical advantages over Mathod 1, which this paper will attempt to evaluate. They are:

- A. Consistency is automatically insured by algebraic derivation from an equation of the Equation (7) type. Suitable correction terms may be introduced where experimental P-V-T- composition data are available.
- B. Calculation of pseudoreduced quantities by linear combination is not entirely satisfactory, while the combination proposed by Joffe (15) leads to fairly complicated calculations.
 - (Note: This latter proposal was not used with Method 1 in this paper - linear combination was utilized).
- C. With the usual generalized charts, including the chart for Z, an appreciable error in interpolation with respect to T_r is difficult to avoid because the functions are far from linear in T_r . They are however, roughly linear in A^2/B (Method 3 parameter), so that interpolation on the special charts entails a minimum loss of accuracy.

The equations and calculation procedures for Methods 1, 2, and 3 are described in detail later in this paper.

It should be noted in conclusion that several other methods of predicting vapor and liquid activity coefficients are available but not

utilized in this paper.

De Priester (5) has improved the Kellogg correlation charts and reduced them in number to 24, 12 for vapors and 12 for liquids. Each pair applies to one of twelve light paraffin and olefin hydrocarbons through N-Meytane. For a particular hydrocarbon, as part of a mixture, its activity coefficient in each phase is obtained by locating a point on the proper charts for the system temperature, pressure and molal average atmospheric boiling point. This method is claimed to have a somewhat lower percentage error than the Kellogg charts. It was by-passed for this paper since its charts would not be strictly applicable to the A-E and H-N systems. Although Method (2) is also based on the same 12 hydrocarbons, it was thought that its more generalized nature would make it applicable to other substances as well.

Smith and Watson (24) have developed a method which is basically a graphical form of the method of Gamson and Watson (8). This latter method has as its basis a relationship similar to that of Method 1, but with an empirical correction factor to make it agree with data on light hydrocarbon systems. Bennett (4) tested the method of Watson and Smith (and several others), and logically recommends that it be used only to predict vapor-liquid equilibria for these hydrocarbons, which rules it out for use in the present **Dates**.

EQUATIONS AND CALCULATION PROCEDURES

Method 1

Method 1 has as its basis Equation (8), derived by Joffe in his paper (15)

$$\log (f_{\rm m}/y_{\rm n}) = \log f_{\rm m} \neq (T_{\rm cm} - T_{\rm cn}) (\Delta H/T_{\rm cm}) / 2.303 \text{ RT} / (P_{\rm cm} - P_{\rm cn}) (Z_{\rm m}-1) / 2.303 \text{ Pcm}$$
(Eq. 8)

To evaluate the various terms of Equation (8) it is first necessary to calculate the pseudoreduced properties of the gaseous mixture, using Kay's relations (Equations 9, 10, 11 and 12).

$$T_{cm} = Sumstion (T_{cm} y_n)$$
 (Eq. 9)

$$P_{cm}$$
 : Summation $(P_{cn} y_n)$ (Eq. 10)

These pseudoreduced properties are used to evaluate V_m , Z_m and $\Delta H/T_{CM}$ from three generalized charts. Table 49 lists the references in which the various charts used in this paper may be found, and indicates the parameter ranges covered.

$$V_{_{IR}}$$
 is plotted as a function $(T_{_{ITR}}, P_{_{ITR}})$
 $Z_{_{IR}}$ is plotted as a function $(T_{_{ITR}}, P_{_{ITR}})$
 $\Delta H/T_{_{CIR}}$ is plotted as a function $(T_{_{ITR}}, P_{_{ITR}})$

With these properties Equation (8) may be evaluated. V_{m} is converted to f_{m} by Equation (13).

$$f_{\rm m} = V_{\rm m} P \qquad (Eq. 13)$$

To obtain the precision possible for Method 1 it is necessary to read the values of $V_{\rm m}$ and $\Delta H/T_{\rm cm}$ very carefully from the respective charts, and to use logarithms in calculating the temperature "correction term" (11). Note that the antilogarithm of the left side of Equation (3) must be divided by P to obtain the activity coefficient

The evaluation of Equation (8) for each component will utilize the same values of $V_{\rm H}$, $Z_{\rm H}$ and $\Delta H/T_{\rm CM}$. The $(T_{\rm CM}-T_{\rm CM})$ and $(P_{\rm CM}-P_{\rm CM})$ terms, however, will differ in both sign and magnitude from one component to the other, and the values of log $(f_{\rm H}/y_{\rm H})$ can differ radically.

Nethod 2

Three special charts developed by Edmister and Ruby (7) are required for Method 2. These, plus three charts used in calculating activity coefficients for liquids, may be obtained for \$1.35 and in $3\frac{1}{2}$ " x ll" size from:

> A. D. I. Auxiliary Publications Photoduplication Service Library of Congress Weshington, D. C.

Figures (1) (2) and (3) of Reference 7 apply to vapors and were used in this paper. Figures (4) (5) and (6) of Reference 7 would be used for liquids. The parameters for both phases are the same and defined by Equations (14) (15) and (16).

 $T_{\rm rm} = T/T_{\rm cm}$ (Eq. 14)

$$P_{rn} = P/P_{cn}$$
 (Eq. 15)

 $b_{TR} = b_m/b_n = \frac{mol. eve. stmos. B. P. of mixt.}{stmos. B. P. of comp. "n"}$ (Eq. 16)

An intermediate parameter Θ_n is used to relate the two charts to evaluate ϕ_n for either phase. Aside from the calculations by Equations (14) (15) and (16), Method 2 is completely a matter of locating one point on each of two charts. A description of Figures (1), (2) and (3) is found below. The parameter ranges covered on these charts are listed in Table 50.

Figure (1) has b_{rn} as its ordinate and T_{rn} as abscissa (see Fig. 1, this paper). Θ_n^V is read by interpolation between lines of constant Θ_n^V . It is used for vapors of light paraffins and olefins other than Methane, and it is hoped, for other substances judged to possess thermodynamic properties quite different from those of Methane.

Figure (2) differs from Figure (1) only in the shape and distribution of the lines of constant Θ_n^{v} . It is used exclusively for Methane vapors and, it is hoped, for other non-paraffin, non-olefins judged to have thermodynamic properties similar to Methane's. This latter type of substance is examplified in this paper by Argon.

Figure (3) (see Fig. 3, this paper) has P_{rn} as abscissa and has lines of Θ_n^V in the manner of Figures (1) and (2). ϕ_n is read directly as the ordinate, using a value of Θ_n^V obtained from either Figure (1) or (2).

This procedure of calculating T_{rn} , P_{rn} and B_{rn} , reading Φ_n^v from Figure (1) or (2), and reading $\dot{\Phi}_n$ from Figure (3), is carried out for each component.

Method 3

Method 3 has as its basis generalized-type relationships and paremeters

derived by Redlich et al (19) from Equation (7).

$$P = \frac{RT}{(v - b_c)} = \frac{R}{V(v \neq b_c)} (T)$$
(Eq. 7)

The constants a and b of Equation (7) are defined as follows for a pure gas:

$$a = 0.4278 R^2 (T_c)^{2.5/P_c}$$
 (Eq. 17)

$$b_{o} = 0.0867 \text{ R } T_{c}/P_{c}$$
 (Eq. 18)

Further definitions for a pure gas:

$$A^2 = a/R^2 T^{2.5}$$
 (Eq. 19)

For a gaseous mixture, the derived parameters are defined as:

 $A_{n} = 0.6541 \frac{1.25}{r_{cn}} / \frac{1.25}{r} P_{cn}^{0.5}$ (Eq. 22) $B_{n} = 0.0867 \frac{1}{r_{cn}} / \frac{1}{r} P_{cn}$ (Eq. 23) $A = \text{Summation} (A_{n} y_{n})$ (Eq. 24)

$$B = Summation (B_n y_n)$$
 (Eq. 25)

Using the results of Equations (24) and (25) the quantities A $^2/B$ and HP are calculated. These are used to evaluate three secondary parameters, either by calculation from Equations (26), (27) and (28) or from three charts appearing in (19) as Figures (15), (16) and (17) (see Figures 4, 5 and 6, this paper). The three secondary parameters and their defining equations are:

$$\log \bar{\phi} = 0.4343 (Z_{m} - 1) - \log (Z_{m} - BP) - A^{2}/B \log (1 \neq BP/Z_{m})$$

$$(Eq. 26)$$

$$u = 2 A^{2}/B \log (1 \neq BP/Z_{m})$$

$$(Eq. 27)$$

$$w = 0.4343 (Z_m - 1) \neq A^2/B \log (1 \neq BP/Z_m)$$
 (Eq. 28)

These three secondary parameters and values from Equations (22), (23), (24) and (25) are now inserted into Equation (29) which yields the desired vapor activity coefficient.

$$\log \phi_n = \log \phi - u (A_n/A - 1) \neq w (B_n/B - 1)$$
 (Eq. 29)

In Equation (29) it is interesting to note that only the quantities A_n and B_n are properties of component "n", all other quantities (save the constant 1) being mixture properties.

If fairly extensive calculations are to be carried out using Method 3 it is recommended that the charts be used for evaluating $\log \phi$, u and w, as a time-saving measure. Unfortunately, Figures (14), (15) and (16) of (9) are not available commercially at present. However, they may be plotted from data which will be supplied on request by Dr. O. Redlich, whose current address is:

704 Keeler Avenue Berkeley 8, California

From Figures (4), (5) and (6) of this paper it can be seen that HP is the abscissa and A^2/B is plotted as a parameter for each of the three charts, with the secondary parameters as the ordinates. If these charts are not plotted and used it will be necessary to determine $Z_{\mu\nu}$ to evaluste Equations (26), (27) and (28). This may be done as for Method 1, or preferably by plotting $Z_{\mu\nu}$ as ordinates with HP as abscissa and A^2/B parameters. Data for this chart are included in Dr. Redlich's transmittal, and take the general form shown in Figure (7) of this paper.

RESULTS (GENERAL)

Activity coefficients for 236 experimental points have been calculated by three methods for both components of four binary gaseous systems. These calculated values are found along with the experimental values in Tables 13 through 43.

The \$ deviations of calculated from experimental values have been determined and are presented in Tables 1 through 12. These deviations are grouped by pressure, and the trends of the deviations indicated (\$ positive). From these \$ deviations and a time study, the general and specific merits of the three methods have been estimated, and are discussed under "General Conclusions" and "Specific Results", respectively. Also, the value of certain corrections and alternate procedures has been tested for Methods 1 and 3 on a limited scale, and results are presented under "Refinements".

Calculated and experimental data for 19 points selected from twovepor - liquid systems are presented to indicate the unfortunately large deviations occurring (Tables 44 and 45). These data are discussed at the end of the section entitled "Specific Results".

CONCLUSIONS (GENERAL)

These are based on the 5 deviation reported in Tables 1 through 12 and on a time evaluation performed on the N-B calculations, reported under "Specific Results".

Method 3 is in all cases the most accurate, and has no practical limits on severity of reduced conditions. (See tables 48 and 51). It may be used with all types of games tested. It requires roughly triple the time of Method 2, 5/6 the time of Method 1.

Method 2 provides an accurate, rapid calculation for light hydrocarbons, but it appears doubtful that it can or should be used with other gaseous substances or for severe reduced conditions. It is slightly less accurate than Method 3 for Methane in Systems N-E and M-B and for Butane above 100 atm. Its limits on reduced conditions are found in Table 50.

Nethod 1 is the most time-consuming, and due to doubtful accuracy and unavoidable poor precision in reading generalized charts for \triangle H/T_c and V at severe or even moderate conditions, is the least accurate. It may be used for any gaseous substances under any practical reduced conditions (Table 49), but is less accurate than Nethod 3 in all cases, although taking 20% longer.

As can be seen from Table 49, a number of generalized charts are necessary to apply Method 1 to various systems. Selection is based on partning paremeter ranges of the system and charts, and on experience as to which chart will lead to a minimum of error. The relative utilities of the three methods logically seem to be functions of their chronological appearance and their theoretical and empirical aspects.

Method 1 appeared in 1948 with its contribution being the special thermodynamic relationship derived by Joffe. To evaluate this equation (Eq. 8) it is necessary to use values read from three generalized charts, each having been in existence for some years and primarily intended for other more basic applications. For moderate and severe reduced conditions their admitted poor precision is included in the evaluation of Equation 8, in not one but three places, namely Z, V, and $\Delta H/T_c$, and sizeable errors may be expected.

Nethod 2 was published in 1955 and is based on extensive correlations of experimental data for twelve light hydrocarbons. IEM facilities were used for tabulations and calculations needed to condense over one hundred specific vapor charts to the three general ones used in the present paper. Boiling point was added to temperature and pressure as a third reduced property to serve as parameters.

Nethod 3 appeared in 1952. The inherent shortcomings of generalized correlations were critically examined by the authors, and their complex set of equations, parameters and charts developed from extensive literature experimental data. These developments were designed to minimize generalized shortcomings, and include making linear interpolation possible over all ranges.

To summarize, Method 1 is an early attempt to use existing generalized

charts by means of a special thermodynamic relationship. Method 2 is the result of a most recent condensation of experimental data for twelve light hydrocarbons. Method 3 is a recent combination of a new concept of generalized correlations based on experimental data for a variety of substances.

It appears that the advantages claimed for Method 3 in the "Introduction" have been verified. Further, the value of each method for calculating gaseous activity coefficients appears to be proportional to the complexity and scope of the original work done by the respective authors.
RESULTS (SPECIFIC)

A. Time Required for Each Nethod

To establish these data a record was kept of the hours required to calculate activity coefficients of 56 points for the N-B system, starting with P, T and y data. Since this system was the last to be calculated and had a large number of points, time per point benefited from both experience and from economies of mass production. For calculations by those not as familiar with the procedures it is believed that while the relative times of each method would remain essentially the same, the actual time per point would increase.

Method	1.	9 ¹ / ₂ hours	10.2	min./point	3.45 times longer than Method 2
	2.	2 3/4 hours	3.0	min./point	1.0
	3.	8 hours	8.6	min./point	2.9 times longer than Method 2

B. Severity of Reduced Conditions for Each System

By reference to Tables 46 through 51 it is possible to determine the approach to chart limits of reduced conditions and derived parameters for each system by each method. Mild conditions may be normally expected to lead to small errors, while systems near chart limits (severe conditions) will usually involve higher errors by calculation. Generalizations as to parameter severity encountered in each system are found below.

1. A - E. For Methods 1 and 3 only some values of $\Delta H/T_{\rm CM}$ could be considered severe. Results should be good. Method 2 shows mild conditions, but use of the Methane Chart for Argon is an experiment of unpredictable accuracy. 2. H = N. Very severe conditions for Method 1 with the exception of $\Delta H/T_{cm}$. Method 2 not applicable = T_r ; P_r and b_r all off charts. Method 3 has high B P values, but other parameters are low. Low errors may be anticipated for Method 3.

3. N = E. Moderate to severe $V_{\rm H}$ and $\Delta H/T_{\rm CH}$ values for Method 1. Up to moderate parameter values for Method 2. Fairly severe log $\overline{\phi}$ and u values over limited range for Method 3. Overall high accuracy may be expected from Methods 2 and 3.

4. H = B. Slightly more severe V_m and $\Delta H/T_{cm}$ values than N = E for Method 1. Moderate to severe Method 2 parameters values. Nothod 3 parameters approximate most severe N = E parameters. Methods 2 and 3 should be only slightly less accurate than for N = E.

C. Results by System

Several generalizations concerning the effects of mol fraction and pressure on \$ deviation can be made.

- 1. The lower a component's mol fraction the greater will be its deviation from an activity coefficient of 1.0.
- 2. The higher the system pressure (and in some cases the lower its temperature) the greater will be the deviation from ϕ_{\pm} 1.0.
- 3. The greater ϕ 's deviation from 1.0 the greater will be the \$ of deviation of calculated from experimental values. This effect is reduced when ϕ is greater than 1.0 but will be greatly emagerrated by \$ deviation for values of ϕ approaching 0.0, since \$ deviation is calculated by dividing the error by the experimental value.

If, for example, the experimental value of ϕ is 0.1, and by calculation is 0.11 (an error of 0.01), % deviation $\pm 4.10\%$. This effect, primarily due to high Methane mol fractions, is responsible for the excessive % deviation reported for Butane in System M = B.

Several generalizations may also be made regarding Method 1.

When the % deviations of one component are opposite in sign to those of the other it may be assumed that the correction terms are too large or too small. Since the pressure correction term is seldom appreciable the $\Delta H/T_{cm}$ value read from the chart is probably at fault.

When the % deviations of both components have the same sign, the probable cause is the value of V_m read from a chart.

A slight error in reading V_{m} and $\triangle H/T_{cm}$ chart values can lead to an appreciable error in ϕ . This factor and the failure of the theory of corresponding states can lead to large errors under severe conditions.

The slight improvement in % deviation for System A - E over Joffe's values (15) are probably due to use of the most recent Δ H/T_{CER} chart from (6).

Where two or more of the methods give \$ deviations of the same sign it may be assumed that all include the same generalized error or that experimental results may be at fault.

The Results by System

1. System A - E. % deviations by all methods are very low. This

is due to fairly low pressures and a symmetrical mol fraction pattern of 0.2, 0.4, 0.6, 0.8. The use of Fig. 2 (Methane Vapors) in Method 2 to determine 0^{V} for Argon gives much better results than the use of Fig. 1, but is still a poor approximation. The error for Ethylene by Method 2, however, is lowest, indicating that a hydrocarbon component may possibly be calculated accurately in the presence of a non-hydrocarbon by Method 2. Deviations by Methods 1 and 2 are generally positive, and are generally negative by Method 3.

2. System H - N. Experimental values of ϕ ranging up to 2.3 and 2.1 for the two components represent very severe tests for the calculation methods. Excessively high pressures are encountered. A symmetrical mol fraction pattern of 0.2, 0.4, 0.6, 0.8 minimizes the % deviation effects described at the beginning of this section.

Method 1 is relatively hopeless until the pseudocritical constants of Newton (18) are used as described later under "Refinements". Excellent results for all pressures below 800 atmospheres are obtained by the Newton refinement, especially for Hydrogen. However, even these values are in much greater error than those obtained by Method 3, which gives surprising accuracy up to and including 1000 atmospheres. It is interesting that the use of Newton's pseudocritical constants for Method 3 actually decreased its accuracy, most markedly in the case of Hydrogen. Since Newton's refinement involves revising Hydrogen's critical properties it is not surprising that this component surfered or gained the most through its use.

Deviations by Method 1 are generally positive and by Method 3 generally negative. Method 2 cannot be tested on System H - N since all chart parameters are widely exceeded due to the very low critical constants and boiling points of Hydrogen and Nitrogen.

3. System M - E, -- 112 points

A fairly symmetrical pattern of Mathane mol fractions of 0.32, 0.56, 0.74 and 0.88 and rather high pressures (4 of 7 over 100 atmos) give rise to large % deviations. φ for Ethane dips as low as 0.2 at 0.32 mol fraction Methane.

Method 1 gives % deviations for Methane which are much higher, and % deviations for Ethane which are only slightly higher, than those calculated by Methods 2 and 3. % deviations are positive for Methane and negative for Ethane by all methods, with the exception of $y_{\rm H} = 0.882$, where % deviations for Ethane also become positive. Method 2 is optimum for calculating M - E System activity coefficients.

4. System N - B -- 56 points

Due to the nature of the system, single phase gaseous data must be taken at high Methane mol fractions, which averages 0.81 for points calculated. This factor and fairly high pressures yield Butane activity coefficients as lew ss.0.06. % deviations for Butane are therefore extremely high while Methane gives very low ones. Another contributing factor to this situation may be the wide difference in the critical properties and boiling points of Methane and Butane. Methods 1 and 2 give results for Methane which are comparable and contain a greater error than those of Method 3. Method 1 gives a consistently higher error for Butane. Method 2 keeps pace with Method 3 for Butane except for pressures over 125 atm, particularly at temperatures below 100° C.

\$ deviations for Butane are positive for all methods. Methane \$ deviations are generally positive also.

D. $(E - E)_{VL}$ and $(M - B)_{VL}$ System Results

Calculated and experimental ϕ values are presented in Tables 44 and 45. \neq deviations have not been calculated. The data on System (E = E)_{VL} indicate that Methods 1, 2 and 3 check each other very closely but do not check the experimental values for either component. From Table 46 it can be seen that reduced properties are all below 1.0, definitely a contributing factor to the large discrepancy.

For System $(M - B)_{VL}$ Methods 1 and 2 check each other fairly well, but except for either extreme of pressure, do not check experimental values. Calculations have not been performed by Method 3. Values for Methane are not greatly out of line but show a continuous trend below experimental. Values for Butane, on the other hand, are consistently much higher than experimental values.

These discouraging results, while very, very limited in scope, raise a question as to the value of Methods 2 and 3 for calculating K' values from an activity coefficient calculated for each phase.

REPINSMENTS

A. Method 1

1. In applying relationships based on generalized correlations to Hydrogen and Helium, better agreement (18) with experimental values is obtained by using modified reduced conditions calculated from the equations: $T_r = T/(T_c \neq 8)$ and $P_r = P/(P_c \neq 8)$

where T = ^OK and P = atmos.

In the work reported herein, System H = N has been evaluated hy Methods 1 and 3, first by using the exact values for Hydrogen, $P_{c} = 12.8$ and $T_{c} = 33.3$, and next by taking the proposed pseudocritical values of $P_{c} = 12.8 \neq 8 = 20.8$, and $T_{c} = 33.3 \neq 8 = 41.3$. Results by the latter method are listed in Tables 3 and 17 through 24 under "H = N pseudo". As noted earlier, this revision helped Method 1 accuracy but decreased it for Method 3.

2. York and Weber (27) have proposed a correction factor to be applied to the $\Delta H/T_{\rm CM}$ pressure correction read from generalized charts. It is limited to a range of $T_{\rm T}$ of from 1.0 to 1.6, and is determined from the relationship $\phi = (T_{\rm C}/370)^{\rm n}$, where n is a function of $T_{\rm T}$. In this paper a modification by Hougen and Watson (12) has been adopted, with their values of n shown in Table 53 as applied to their relationship $\phi = (T_{\rm C}/470)^{\rm n}$. To test its effect on results calculated by Method 1 it has been applied to 56 points in System M - E for $y_{\rm m} = 0.319$, and 0.555, where $T_{\rm TM}$ lies between 1.0 and 1.6.

Table 54 presents () correction factors for System M - E. Tables 55 through 62 give a detailed listing of activity coefficients calculated with and without the () correction. Table 63 summarizes \$ deviations with and without the correction. It can be seen that use of the correction factor improves accuracy 25% for Methane and 35% for Ethane.

It thus appears that if Method 1 must be used rather than Methods 2 or 3, the expenditure of time in calculating the correction is probably justified by the increased accuracy.

B. Method 3

As indicated in the "Equations and Calculation Procedure" section, the use of Figs. 4, 5 and 6 may be omitted for evaluating log ϕ , u and w, and these quantities calculated from Equations (26), (27) and (28).

These equations have been used to test activity coefficients evaluated using the charts. 21 points in System A - E and 20 points in System H - N evaluated by each procedure show that use of the equations gives a net improvement in accuracy of $0.2 \leq \text{deviation}$ units. This is a negligible increase for the time expended, and charts are greatly to be preferred whenever a sufficiently large number of calculations will be made to justify plotting them.

APPENDIX

SAMPLE CALCULATIONS

A point has been selected at random from the M-E system to illustrate in detail use of the equations and charts required by Methods 1, 2 and 3.

The data found in the literature (23)

Ŧ	1300	P	vt	Ĩ	184	stion	Het	he	138		0.2
P	2750	psia	1 /3	æ	-	Metha	we	#	0.9)5 ⁵	\$

- Ethane : 0.372

Wt. fraction is converted to mol fraction - 0.319 Changing units for T and P.

T becomes 327.6 degrees Kelvin

P becomes 187.22 atmospheres

With only these three defining properties it is possible to calculate the activity coefficient of each component by the three methods. A vertical tabular form of calculation proved efficient for evaluating the various quantities involved. The symbols evaluated are listed below at the far left in the exact vertical order used throughout the calculations. The table, chart or formula used for evaluation is shown to the right of the symbol, followed by numerical substitutions where indicated. The numerical value of the symbol is found at the extreme right.

Before work can begin on this tabulation, (14) or another suitable source is consulted for component critical properties and boiling point. For this system -

	T _{cn} (°K)	P _{CR} (atm)	ь (°К)
Methane	190.7	45.8	111.8
Ethane	305.3	48.8	184.9

Methane will be referred to as component 1 in subscripts, Sthane as 2.

THE TABULATION

Method 1

General

T _{CR}	$Summation(T_{CD}y_{D})$	(190.7) (0.319)/ (305.3) (0.681)	268.7 °K
P _{CIR}	Summation(P _{cm} yn)	(45.8) (0.319)/ (48.8) (0.681)	47.84 atm.
P	System Property		187.22 eta.
7	System property		327.6 °K
	T/T _{CH}	327.6/268.7	1.219
Pra	P/P _{CIR}	187.22/47.84	3.916
Pom - Pol		47.84 - 45.8	2.04 atm.
Z _m	Gen. Compress Chart	(25) P. 108 Fig. 3	0.624
2 _m - 1		0.624 - 1.000	-0.376
(P _{cm} -P _{c1})/2.303 P _{cm}		2.04/(2.303) (47.84)	0.01854
T _{cm} - T _{cl}		268.7 - 190.7	78.0°K
(T _{CBE} - T _{cl})/2.303 RT		78/(2.303) (1.987) (327.6)	0.0580
∆ I/T _{CBE}	Generalized Chart	(6) P. 140 Fig. 48	5.75
V _{IR}	Generalized Chart	(13) Fig. 142	0.493
f	V _R P	0.493 x 187.22	92.31 atm.
log f _m	(11), or any log tab	les	1.96525

29

r,

Temp. corrn

$$[(\mathbf{T}_{CM} - \mathbf{T}_{c1})/2.303 \text{ RT}]$$
 $[\Delta \mathbf{H}/\mathbf{T}_{CM}]$
 $(.0580)$
 (5.75)
 0.33365

 Sum of two previous lines
 $1.96525 \neq 0.33365$
 2.29890

 Press. corrn
 $[(\mathbf{P}_{CM} - \mathbf{P}_{c1})/2.303 \mathbf{P}_{CM}]$
 $(\mathbf{Z}_{m} - 1)$
 (0.01854)
 (-0.376)
 -0.00698

 log (f_1/y_1)
 Sum of two previous lines
 $2.29890 = 0.00698$
 2.29192
 f_1/y_1
 Antilog (2.23192)
 195.85
 ϕ_1
 $f_1/y_1 P$
 $195.85/187.22$
 1.047
 $\mathbf{P}_{CM} = \mathbf{P}_{C2}$
 $47.84 = 48.8$
 -0.96 etam

 $\mathbf{T}_{cm} = \mathbf{T}_{c2}$
 2.303 RT
 $(-736.6/(2.303)$
 (1.967)
 $(327.6) = -0.0272$
 $\mathbf{P}_{CM} = \mathbf{P}_{c2}/2.303 \text{ RT}$
 $(-736.6/(2.303)$
 (1.967)
 $(327.6) = -0.00872$
 $\mathbf{P}_{CM} = \mathbf{P}_{c2}/2.303 \text{ RT}$
 $(-96.96/(2.303)$
 (47.84)
 -0.00872
 $\mathbf{P}_{CM} = \mathbf{P}_{c2}/2.303 \text{ RT}$
 $(-96.96/(2.303)$
 (47.84)
 -0.00872
 $\mathbf{P}_{CM} = \mathbf{P}_{c2}/2.303 \text{ RT}$
 $(-96.9525 = 0.15640$
 1.80685
 $\mathbf{P}_{CM} = \mathbf{P}_{c2}/2.303 \text{ RT}$
 $(1.96.752)$
 (-0.15640)
 $1.80685 \neq 0.00328$
 1.81213

.

<u>Method 2</u>

bm	Summation $(b_n y_n)$	(11.8) (0.319) / (184.9) (0.681)	161.6°K
^b rl	bm/b1	161.6/111.8	1.446
T _{rl}	T/T _{cl}	327.6/190.7	1.719
्र	Fig. 2		2.475
P _{rl}	P/Pcl	187.22/45.8	4.092
φ,	Fig. 3		1.058
p ¹⁵	b _m /b ₂	161.6/184.9	0.874
1.72 Tr2	T/T _{c2}	327.6/305.3	1.073
٥ž	Fig. 1		1.083
P _{T2}	P/P _{c2}	187.22/48.8	3.841
Φz	Fig. 3		0.370

Method 3		
T _{el} /T		נ
1/Pcl		
B ₁	0.0867 T _{cl} /TP _{cl}	(0.086

190.7/327.6	0.5817
1/45.8	0.02184
(0.0867) (0.5817) (0.02184)	0.001102

(T /T) 1.25		(0.5817)1.25	0.5078
(1/Pc1) 0.5		(0.02184) ^{9.5}	0.1478
A	$(0.6541) (T_{cl})^{1.25}/T^{1.25}P_{cl}^{0.00}$	•5 (0.6541) (0.5078) (0.1478)	0.04914
T _{c2} /T		305.3/327.6	0.9319
1/P _{c2}		1/48.8	0.02049
B ₂	(0.0867) T _{c2} /TF _{c2}	(0.0867) (0.9319) (0.02049)	0.001656
(T _{c2} /T) ^{1.25}		(0.9319) ^{1.25} m	0.9157
(1/P _{c2})		(0.02049)0.5	0.1432
A2	(0.6541) $(\underline{r}_{c2})^{1.25}/\underline{r}^{1.25}P_{c2}^{0.0}$	⁵ (0.6541) (0.9157) (0.1432)	0.08574
В	Summation (B _n)	(0.001102) (0.319/ (0.001656) (0.6\$1)	0.001479
A	Summetion (A _B)	(0.04914) (0.319) / (0.08574) (0.681)	0.07416
а ² /в		(0.07416) ² / 0.001479	3.719
BP		(0.001479) (187.22)	0.277
$(A_1/A) - 1$		(0.04914/0.7416) - 1.00	-0.336
u	Fig. 5		1.143
$(B_1/B) - 1$		(0.001102/0.001479) - 1.00	- 0.255
W	Fig. 6		0.430
$\log \bar{\phi}$	Fig. 4		-0.30670

B ₁ corra.	$w[(B_1/B) - 1.00]$	(0.430) (+ - 0.255)	-0.10975
Sum of two previous lines		- (0.30670 / 0.10975)	-0.41645
Al corra.	$- u \left((A_1/A) - 1.0 \right)$	- (1.143)(-)(0.336)	0.38400
log ϕ_i		- (41645) / 0.38400	-0.03245
φ _i		antilog. (0.96755 - 1.0)	0.928
$(A_2/A) = 1.0$		(0.03574/0.07416) - 1.0	0.158
$(B_2/B) = 1.0$		(0.001656/0.001479)-1.0	0,120
log $\overline{\phi}$	Fig. 4	see 8 lines above	-0.30670
A ₂ corra.	$-u(A_2/A) - 1.0$	- (1.143) (0.158)	-0.18080
Sume of 2 previous lines		- (0.30670 / 0.18080)	-0.48750
B ₂ corra.	w (B2/B) - 1.0	(0.430) (0.120)	0.05160
log ϕ_Z	Sum of 2 previous lin	xes - (0.48750) / 0.05160	-0.43590
Ф 2.		antilog (0.56410 - 1.0)	0.367
	Calc Exper.		0.367
\$ Deviation	Exper. For d	by <u>0.367 - 0.372</u> d 3 <u>0.372</u>	- 1.35%

---- -

FIGURE 1

 Θ^V vs. T_T and b_T for Hydrocarbon Vapors Method 2. Appears as Figure 1 in (7)



FIGURE 2

 Θ^{V} vs. T_{r} and b_{r} for Methane Vapors Method 2. Appears as Figure 2 in (7)



 $r_x \longrightarrow$

FIGURE 3





Log $\overline{\phi}$ vs. BP and A^2/B Method 3. Appears as Fig. 15 in (19)





		TABLE 1			
Deviation of	Calculated	Activity	Coefficient	s From	Experimental
	Argon - I	Sthylene N	ixtures at	25° C	-
(4 mixta	ures - mol 1	Traction A	rgon = 0.2	0.4. ().6. 0.8)

	Ave. 4	Deviatio	on, Argon	Ave. %	Deviation,	Ethylene
Method Deviat. (+) Rues. Atmos	1 95%	2 58 %	3 17 %	1	2 83 %	3 75 %
10	0.35	0.42	0.35	1.73	1.37	1.23
20	0.69	0.87	0.72	3.01	1.43	2.11
30	0.84	1.94	0.96	2.96	1.12	2.01
40	1.20	2.81	0.74	3.48	0.80	2.00
50	1.23	3.64	1.06	3.36	0.62	1.35
6 0	1.15	4.49	0.95	3.18	0.58	1.24
80	1.16	5.15	1.29	2.96	1.72	0.82
700	1.15	*3.73	1.91	2.68	2.98	2.10
125	1.02	* 4.84	3.01	1.54	3.92	3.38
Ave. for all 36 Points	0.98	3.10	1.22	2.77	1.62	1.81

* Not including 0.2 Argon mol fraction

TABLE 2Deviation of Calculated Activity Coefficients From Experimental
Using True Critical Constants of Hydrogen
Hydrogen = Nitrogen Mixtures at 0 degrees C
(4 mixtures - mol fraction Hydrogen = 0.2, 0.4, 0.6, 0.8)

	Ave. 1	Deviation,	Hydrogen	Ave. %	Deviation,	Nitrogen
Method Deviat. (‡) Pres. Atmos.	1 88%	2	3 56%	1 94 %	2	3 13%
50	1.10		1.76	2.29		0.46
100	0.45		1.82	3.94		0.76
200	4.76	Charts	1.09	2.96	Charts	1.50
300	9.88	Do Not	1.36	3.36	Do Not	2.71
400	14.1	Include	1.44	7.25	Include	3.64
6 00	26.1	This	1.81	10.15	This	5.12
800	38.4	Range	2.99	19.5	Range	7.19
1000	55•7		4.29	16.7		9.19
Ave. for	na an an Anna a	<u>,</u>	9,000,000,000,000,000,000,000,000,000,0	niji taranginga di shara yangina karan ^{sha} karana	de Alfreinings (1997) (1997) en	dad me ⁿ fligen in Allenanges
Points	18.81		2.07	8.27		3.82

TABLE 3 Deviation of Calculated Activity Coefficients From Experimental Using Facudocritical Constants of Hydrogen Hydrogen - Nitrogen Mixtures at 0 degrees C (4 mixtures - mol fraction Hydrogen ± 0.2, 0.4, 0.6, 0.8)

	Ave. %	Deviation,	Hydrogen	Ave. \$	Deviation,	Nitrogen
Method Deviat (+) Pres. Atmos.	1 91%	2	3 0%	1 75%	2	3 9%
50	0.68		2.84	0.67		0.46
100	1.65	Charts	4.03	1.90	Charts	0.92
200	2.29	Do Not	5.65	0.94	Do Not	2.63
300	1.54	Include	7.38	1.42	Include	3.83
400	2.05	This	9.05	4.07	This	5.17
600	2.10	Range	12.06	6.57	Range	7.68
800	12.74		15.51	17.74		9•77
1000	20.60		19.25	20.90		12.68
Ave. 32 Points	5.46		9.47	6 .78		5.39

TABLE 4Deviation of Calculated Activity Coefficients From ExperimentalMethane - Ethane Mixtures - Summary for 21, 54.5, 88., 121.3 degrees C(4 mixtures - mol fraction Methane = 0.319, 0.555, 0.738, 0.882)

	Ave. \$	Deviation,	Methane	Ave. \$	Deviation,	Ethane
Method Deviat. (1) Pres. Atmos.	1 95%	2 84 %	3 93%	1 29%	2 31 %	3 37%
17.02	1.70	1.02	0.55	1.05	1.51	1.00
51.06	4.03	2.19	1.32	3.23	2.33	2.30
85.10	5.78	2.49	2.14	4.91	3.60	3.75
119.14	7.47	2.69	2.81	5.91	4.57	4.91
153.18	9.27	3.91	3.56	6.66	5.13	5.16
187.22	10.52	4.69	4.30	7.51	5+33	5.98
221.26	11.91	5.99	4.64	8.43	6 .3 4	6.35
Ave. 112 Points	7.24	3.28	2.76	5.39	4.12	4.21

TABLE 5Deviation of Calculated Activity Coefficients From Experimental
Nethane - Ethane Mixtures at 21 degrees C
(4 mixtures - mol fraction Methane - 0.319, 0.555, 0.738, 0.882)

	Ave. %	Deviation	, Methane	Ave. % I	Deviatio	n, Ethane
Method Deviat. (+) Punc Atmos	1 79%	2 80%	3 84%	1 324	2 39%	3 57%
17.02	1.14	0.62	0.97	1.01	1,43	0.92
51.06	1.66	1.71	0.81	3.30	2.02	1,48
85.10	4.03	1.63	1.85	5.29	4.11	3.74
119.14	3+79	1.79	2.93	6.25	6.18	6.10
153.18	4.72	2.76	3.54	5.67	6.02	6 .91
187.22	6,95	3.96	6.16	5.71	5.46	8.32
221,26	8.43	5.10	7.38	6.96	7.34	8.95
Ave, 28 Points	4.39	2.51	3.38	4.88	4.65	5,20

	TABLE 6
Deviations	of Calculated Activity Coefficients From Experimental
	Methane - Sthane Mixtures at 54.5 degrees C
(4 mintane	- mol fraction Methane $-0.319, 0.555, 0.738, 0.882)$

	Ave. \$	Deviation	, Methane	Ave. %	Deviatio	n, Ethane
Nethod Deviat. (+)	100%	2 79%	3 93%	1 25\$	2 32\$	3 36%
17.02	1.97	1.28	0.49	1.27	1.87	1.14
51.0 6	4.35	2.61	1.38	3+38	2.58	2.91
85.10	4.75	2.32	1.96	5.02	3.31	3.39
119.14	7.02	2.01	2.62	5.60	3.28	4.33
153.18	8.99	4.43	3.83	6.71	3.71	3.50
187.22	8.73	4.60	3.54	7.08	4.02	4.26
221.26	10.05	6.50	3.13	8.12	5.25	5.03
Ave. 28	9	n ga dhallan an a				
FOINCE	6.55	3.39	2.42	5.31	3.43	3.51

	Ave. %	Devistio	n, Methane	Ave. \$	Deviation,	Ethane	
Method Deviat. (+) Pupe Atmos	100%	2 86 %	3 95%	1 32%	2 2 0%	3 20%	
17.02	1,85	1,15	0.33	0.93	1.84	1.02	-
51,06	4.85	2,29	1.39	2.98	2.53	2.47	A
85.10	6,68	2,85	2.24	4.72	3.60	4.04	B L
119.14	9,21	3.19	2.66	5.69	4.13	4.84	5
153,18	11,71	4,22	3.42	6 .8 7	5.15	5.02	7
187.22	12,91	5.41	3.71	8.17	5.48	5,40	
221,26	14.55	6.57	4.07	9.13	6.08	5.04	
Ave. 28 Points	8,84	3.67	2,55	5.50	4.12	3.98	

Deviation of Calculated Activity Coefficients From Experimental Methane - Ethane Mixtures at 88 degrees C (4 mixtures - mol fraction Methane = 0.319, 0.555, 0.738, 0.882)

Deviation of Calculated Activity Coefficients From Experimental Methane - Ethane Mixtures at 121.3 degrees C (4 mixtures - mol fraction Methane = 0.319, 0.555, 0.738, 0.882)

	Ave. \$	Deviation,	Nethane	Ave. \$	Deviation,	Ethane	
Method Deviat, (+) Pres Atmos	1100%	2 89 %	3 100%	1 25%	2 25%	3 20%	
17.02	1.83	1.04	0.41	0.98	0,90	0.90	T
51,06	5.26	2.15	1.68	3.24	2.20	2.33	A B
85,10	7.67	3.14	2.50	4,59	3.37	3.81	L
119,14	9,85	3.76	3.04	6 .08	4.69	4.38	8
153.18	11,64	4.22	3.44	7.38	5,62	5.20	
187.22	13.47	4.79	3.78	9,08	6,36	5.92	
221.26	14.62	5,80	3.96	9.49	6,66	6.37	
Ave. 28 Points	9.19	3.56	2,69	5,83	4,26	4.13	-

TABLE 9 Deviation of Calculated Activity Coefficients From Experimental Methane - n Butane Mixtures - Summary for 21.1, 54.5, 88. and 121.3 deg. C (No. of Mixtures as Indicated - Average mol fraction Methane = 0.81)

		Ave. \$	Deviation	1, Methane	Ave. % De	vistion,	n Butane
Deviat.	(+)	1 91\$	2 45 %	3 55%	100%	2 100%	3 100%
6.81	(8)	1.07	0.85	1.08	6.28	4.65	5.60
13.62	(5)	1.48	1.27	0.92	12.36	7.93	10.20
20.43	(3)	0.91	0,84	0.45	15.67	7.43	11.36
27.23	(6)	1.05	1.02	0.59	28.39	18.52	21.26
34.05	(5)	1.92	1.73	1.03	28,25	20.42	23.91
54.46	(2)	1.14	1.36	1.12	41.00	20.43	24.95
68.10	(6)	3.11	3.27	1.79	50.34	28.36	34.93
102.15	(5)	1.94	1.12	1.26	59.43	29.41	33.28
136.2	(7)	3.42	4.90	0.62	71.48	51.0 6	42.20
170.25	(1)	5.00	4.30	2.84	50.5	30.7	29.5
204.3	(8)	3.32	6.27	0.77	85.55	69.6	49.6
Ave. For Points	56	2.14	2.62	1.00	42.65	28.8	27.3

	TABLE 10	
Deviations of	Calculated Activity Coefficients From Experimental	
Methane	- n Butane Mixtures at 21.1 and 54.5 degrees C	
(no. of mixtu	res as indicated - average nol fraction Methane = 0.87)

		Ave. \$ 1	Deviation	, Methane	Ave. %	Deviation	n Butane
Method Deviat.	(+)	1 79%	2 16 %	34%	100%	2 100%	3 100%
6.81	(4)	0.78	0.51	1.72	7.39	5.23	6 .80
13.62	(1)	0.47	0.21	0.34	20.05	10.31	8.30
20.43	(2)	0.47	0.46	0,18	16.49	6.81	11.42
27.23	(4)	0.83	0.60	0.44	30.27	20,83	23.13
34.05	(0)						
54.46	(1)	0.31	0.75	0.18	49.1	24.1	28.5
68.10	(1)	1.26	0.74	0.02	59. 85	36.1	39.2
102.15	(2)	1.22	1.39	0.52	60.23	32.37	35.15
136.2	(2)	1.28	2.75	0.36	86.58	53.2	41.4
204.3	(2)	1.64	4.60	0.64	110.6	93+	54.
Ave. for Points	(19)	0.93	1.29	0.66	43.5	28.7	25.3

.

`

		Ave. % De	eviation,	Methane	Ave. 5	Deviation	, n Butane
Method Deviat ({	•)	1	2 :53 %	3 69 %	100\$	100%	3 100%
Pres. Ata 6.81	(3)	1.76	1.55	0.45	4.98	3.68	3.96
13.62	(2)	1.51	1.19	1.22	12.31	9.04	13.67
20.43	(0)						
27.23	(2)	1.49	1.84	0.87	24.62	13.90	17.52
34.05	(3)	1.29	0.44	0.67	32.08	23.12	26,81
54.46	(0)						
68.10	(2)	2.15	0.44	0.92	59.1	38.6	41.35
102.15	(2)	2.10	0.22	1.30	65.3	32.5	37.35
136.2	(2)	1.87	1.39	0.72	85.3	75.5	54.45
204.3	(3)	1.24	3.13	1.02	92.6	83.2	56.97
Ave. for Points	(10)	1.58	1.24	0.87	46.5	35.2	31.2

		Ave. \$	Deviation	, Methane	Ave. 5	Deviatio	m, n But
Method Deviat (Pros. Atz	+)	1 95\$	2 67 %	67 %	100%	2 100%	3 100 %
6.81	(1)	0.15	0.14	0.40	5.70	5.26	5.70
13.62	(2)	1.95	1.87	0.91	8.56	5.64	7.69
20.43	(1)	1.78	1.59	0.98	14.02	8.67	11.25
27.23	(0)						
34.05	(2)	2.85	3.66	1.57	22.5	16.37	19.61
54.46	(1)	1.96	1.97	2.06	32.9	16.75	21.4
68.10	(3)	4.37	5.99	2.95	41.33	18.95	29.23
102.15	(1)	3.06	2.37	2.66	46.1	17.32	23.4
136.2	(3)	5.88	8.67	0.73	52.2	33.33	34.9
204.3	(3)	6.51	10.60	0.60	61.8	40.4	39.2
170.25	(1)	5.00	4.30	2.84	50.5	30.7	29.5

TABLE 13Activity Coefficients (\$) - Experimental (9) and calculated by 3 methodsArgon - Ethylene mixtures at 25° C and Argon mol fraction 0.2

	Az	.Gov		Ethylene					
P(atm) 10	Exper. 1.007	Meth. 1 1.016	2 1.018	3 1.005	Exper. 0.932	Meth. 1 0.941	2 0.941	3 0.949	
20	1.018	1.037	1.047	1.023	0.876	0.892	0.885	0.89 6	
30	1.034	1.051	1.087	1.047	0.823	0.835	0.829	0.841	
40	1.058	1.078	1.135	1.061	0.772	0.788	0.778	0.790	
50	1.090	1.110	1.190	1.088	0.725	0.734	0.729	0.739	
60	1.128	1.153	1.25	1.116	0.677	0.692	0.685	0.689	
80	1.228	1.240	1.365	1.206	0.587	0.589	0.605	0.595	
100	1.354	1.377	1.40	1.292	0.508	0.515	0.533	0.519	
125	1.444	1.452	1.40	1.311	0.437	0.439	0.460	0.453	

 TABLE 14

 Activity Coefficients (\$) - Experimental (9) and calculated by 3 methods

 Argon - Ethylene Mixtures at 25° C and Argon mol fraction 0.4

	Ar	gon		Ethylene					
P(atm) 10	Exper. 1.006	Meth. 1 1.009	1.010	0.3999	Exper. 0.933	Meth. 1 0.950	0.945	0 ³ 948	
20	1.011	1.003	1.024	1.004	0.877	0.908	0.888	0.901	
30	1.016	1.024	1.035	1.003	0.830	0.857	0.837	0.845	
40	1.021	1.032	1.053	1.012	0.785	0.811	0.788	0.800	
50	1.030	1.045	1.074	1.027	0.741	0.769	0.745	0.748	
60	1.038	1.050	1.095	1.021	0.700	0.722	0.702	0.703	
80	1.062	1.080	1.137	1.047	0.622	0.044	0.021	0.010	
100	1.089	1.114	1.177	1.081	0.554	0.565	0.553	0.538	
125	1.120	1.140	1.227	1.117	0.485	0.488	0.484	0.466	

TABLE 15 Activity Coefficients (ϕ_n) - Experimental (9) and Calculated by 3 methods Argon - Ethylene mixtures at 25° C and Argon mol fraction 0.6

• • • •	Ar	gon		Ethylene				
P(stn) 10	Exper. 0.999	Meth. 1 1.000	2 0.998	3 1.001	Exper. 0.934	Meth. 1 0.955	2 0.949	3 0.940
20	1.002	1.002	0.998	0.995	0.885	0.912	0.898	0.893
30	1.001	1.000	0.999	0.993	0.840	0.868	0.851	0.858
40	1.000	1.00 6	0.995	0.987	0.800	0.833	0.807	0.817
50	1.000	1.008	0.992	0.988	0.761	0.796	0.768	0.774
60	1,000	1.006	0.990	0.977	0.725	0.754	0.727	0.743
80	1.002	1.010	0.988	0.987	0.658	0.687	0.653	0.659
100	1.005	1.008	0.987	0.988	0.599	0.622	0.587	0.593
125	1.008	1.012	0.982	0.990	0.537	0.552	0.517	0.523

Activity Coefficients (4,) - Experimental (9) and calculated by 3 methods Argon - Ethylene mixtures at 25° C and Argon mol fraction 0.8

	Ar			Ethylene					
P(atm) 10	Exper. 0.997	Meth. 1 0.994	2 0.996	0.994	Exper. 0.938	Meth. 1 0.958	2 0.955	0.94 6	
20	0.993	0.998	0.991	0.983	0.895	0.927	6.913	0.920	
30	0.987	0.995	0.987	0.982	0.859	0,890	0.869	0.875	
40	0.981	0.993	0.980	0.97 6	0.825	0.859	0.831	0.837	
50	0.978	0.989	0.974	0.975	0.794	0.824	0.795	0.800	
60	0.972	0.981	0.967	0.967	0.764	0.789	0.762	0.762	
80	0.965	0.977	0.957	0.960	0.710	0.734	0.690	0.702	
100	0.958	0.973	0.946	0.952	0.660	0.685	0.629	0.645	
125	0.949	0.962	0.934	0.942	0.609	0.622	0.568	0.588	

	.	TABLE 17		
Activity Con	officients (On)-Exp	erimental (17) and	calculated by 3 methods	
Hydrogen-N1	brogen mixtures at	0°C and Hydrogen mo	1 fraction 0.2	
Eydrogen	using both normal	and pseudocritical	constants of Hydrogen	
	Normal	· ·	Pseudocritical	

	Normal.		-	L'SCUCCETT	VEGUCICITATORT		
P(atm) 50	Meth.1 2 1.087	3 1.063	Exper. 1.074	Meth.1 2 1.069	3 1.047		
100	1.159 Be-	1.129	1.137	1.145 Be-	1.098		
200	1.341 yand	1.266	1.258	1.308 yend	1.191		
300	1.574 scope	1.395	1.375	1.386 scope	1,268		
400	1.658 of	1.521	1.493	1.537 of	1.346		
600	2.213 charts	1.790	1.739	1.804 charts	a 1.510		
800	2.705	2.091	2.015	2.265	1.649		
1000	3.757	2.486	2.325	2.781	1.732		

TABLE 18

. 7

,

	rogen, ust	ng both : Normal	normal as	d pseudocriti	cal constants of Pseudocr1	Hydr tical
P(ata)	Meth.	1 5	3	Exper.	Meth.1 2	•
50	0.985	9.978	0.978	0.979	0.989	0.9
100	0.977	0.960	0.966	0.969	0.979 Be-	0.
200	0.972	0.939	0.968	0.977	0.971 youd	0.
300	0.992	0.920	1.000	1.011	1.009 scope	0.
400	1.082	Be-	1.050	1.073	1.681 of	1.
600	1.285	scope	1.208	1.250	1.285 charts	1.
800	1.614	char ts	1.429	1.508	1.612	1.
1000	2.012	and the second sec	1.710	1.858	2.012	1

.

TABLE 19

Hydrogen Hydrogen	gen-Nitr n,using	ogen mix both norm	tures at 0 nal and ps	C and Hydrog eudocritical	en mol frag constants	f Hydrog	en	
		Normal		Pseudocritical				
P(ata)	Neth.	1 2	3	Exper.	Meth.l	2	3	
50	1.061		1.050	1.066m	1.071		1.041	
100	1.119	Be-	1.097	1.113	1.137	Be-	1.079	
200	1.263	yond.	1.209	1.208	1.255	yond	1.159	
300	1.418	scope	1.320	1.307	1.312	scope	1.243	
400	1.608	of	1.445	1.412	1.430	of	1.321	
6 00	1.955	charts	1.696	1.638	1.638	charts	1.482	
800	21480		1.994	1.895	21087		1.665	
1000	3.499		2.267	2.185	2.457		1.867	

Activity Coefficients (ϕ_n) -Experimental(17) and calculated by 3 methods Hydrogen-Nitrogen mixtures at 0°C and Hydrogen mol fraction 0.4 Hydrogen.using both normal and pseudocritical constants f Hydrogen

TABLE 20

Activity Coefficients (ϕ_n) -Experimental (17) and calculated by 3 methods Hydrogen-Nitrogen mixtures at O^oC and Hydrogen mol fraction 0.4 Nitrogen, using normal and pseudocritical constants of Hydrogen

		Normal			Pseudocritical			
P(atm)	Neth	.1 8	3	Exper.	Neth.1	2	3	
50	1.041	0.984	0.980	0.981	0,995		0.982	
100	1.010	0,968	0.964	0.976	0.988	Be-	0.976	
200	1.009	0.953	0.966	0.990	1.001	yond	0.956	
300	1.069	0.940	0.993	1.031	1.066	scope	1.006	
400	1.186	Be-	1.042	1.093	1.132	of	1.05 6	
600	1.429	scope	1.189	1.278	1.377	charts	1.209	
800	1.757	of charts	1.411	1.546	1.785		1.431	
1000	21133		1.641	1.902	2.233		1.744	

TABLE 21

Activity Coefficients (ϕ_n) -Experimental (17) and calculated by 3 methods Hydrogen-Mitrogen mixtures as 0 6 and Hydrogen mol fraction 0.6 Hydrogen, using both normal and pseudocritical constants of Hydrogen

		Normal		Pseudocripical.			
P(atm)	Moth.	.1 2	3	Exper.	Meth.l	2	3
50	1.041		1.042	1.063	1.075		1.032
100	1.104	Be-	1.083	1.105	1.143	Be-	1.057
200	1.248	yond	1.175	1.193	1.235	yond	1.117
300	1.519	scope	1.273	1.285	1.336	scope	1.180
400	1.666	of	1.387	1.384	1.429	of	1.249
6 00	2.195	charts	1.608	1.605	1.676	charts	1.404
800	2.740		1.885	1.855	2.004		1.562
1000	3.170		2,228	2.141	2.445		1.746

TABLE 22

Activity Coefficients (ϕ_{Λ})- Experimental (170) and calculated by 3 methods Hydrogen-Mitrogen mixtures at 0°C and Hydrogen mol fraction 0.6 Nitrogen, using both normal and pseudocritical constants of Hydrogen

	Normal.				Pseudocritical			
P(stm)	Neth.1	2	3	Exper.	Meth.]	1 2	3	
50	1.038	0.991	0.990	0.98 6	0.985		0.983	
100	1.069	0.983	0.984	0.989	0.965	Be-	0.979	
500	1.093	0.989	0.990	1.013	1.002	yond	0.985	
300	1.115	0.998	1.020	1.061	1.080	scope	1.009	
400	1.278	Be-	1.078	1.121	1.181	20	1.059	
600	1.520	scope	1.249	1.325	1.429	charts	1.197	
800	1.968	or charts	1.460	1.600	1.896		1.416	
1000	2.324		1.786	1.969	2.347		1.711	
Activity Coefficients (ϕ_n) - Experimental(17) and calculated by 3 methods Hydrogen-Nitrogen mixtures at 0°C and Hydrogen mol fraction 0.8 Hydrogen, using both normal and pseudocritical constants of Hydrogen

	Ne	rmal			Pseud	locritic	al
P(atm)	Meth.l	2	3	Exper.	Meth.l	2	3
50	1.053		1.033	1.060	1.053		1.023
100	1.100	Be-	1.073	1.101	1.098	Be-	1.044
200	1.237 3	700đ	1.154	1.179	1.182	yond	1.099
300	1.359 .	ope	1.241	1.266	1.279	scope	1.158
400	1.509	of	1.340	1.358	1.348	of	1.220
600	1.900 cl	arts	1.559	1.568	1.565	charts	1.364
800	2.542		1.832	1.808	1.898		1.521
1000	3.362		2.137	2.086	2.231		1.700

TABLE 24

Activity Coefficients (Φ_n) -Experimental(17) and calculated by 3 methods Hydrogen-Mitrogen mixtures at 0°C and Hydrogen mol fraction 0.8 Mitrogen, using both normal and pseudocritical constants of Hydrogen

	Normal				Pset	docritic	al
P(atm)	Moth	.1 2	3	Exper.	Meth.1	2	3
50	1.023	1.003	0.998	0.987	0.988		0.996
100	1.023	1.009	1.003	0.993	0.962	Be-	1.008
200	1.041	1.037	1.027	1.031	1.022	yond	1.018
300	1.179	1.078	1.067	1.091	1.088	scope	1.050
400	1.326	Be-	1.135	1.170	1.258	of	1.103
600	1.620	scope	1.322	1.383	1.490	charts	1.261
800	2.117	oi charts	1.571	1.672	2.176		1.494
1000	2.631		1.924	2.052	2.847		1.791

TABLE 25 Activity Coefficients (\$,) - Experimental (23) and calculated by 3 methods Methane - Ethane mixtures at 21.1° C and Methane mol fraction 0.319

	Me	thane						
P(atm) 17.02	Exper. 1.000	Meth. 1 0.996	2 1 .00 6	3 0.985	Exper. 0.887	Meth. 1 0.873	2 0.865	3 0.877
51.06	1.000	0.981	1.009	1.003	0.635	0.525	0.630	0.636
85.10	1.000	1.108	1.017	1.016	0.418	0.386	0.460	0.436
119.14	1.000	1.046	1.025	1.024	0.301	0.286	0.344	0.322
153.18	1.000	0.963	1.036	0.963	0.248	0.241	0.274	0.277
187.22	1.000	0.911	1.046	0.882	0.222	0.218	0.233	0.252
221.26	1.000	0.879	1.058	0.857	0.208	0.204	0.204	0.234

TABLE 26 Activity Coefficients (\$\$\$) - Experimental (23) and calculated by 3 methods Methane - Ethane mixtures at 21.1° C and Methane mol fraction 0.555

Methene					Ethene				
P(ata) 17.02	Exper. 0.965	Meth. 1 0.985	2 0.982	3 0.984	Exper. 0.894	Meth. 1 0.887	2 0.876	3 0.902	
51.0 6	0.918	0.931	0.947	0.936	0.681	0.652	0.652	0.666	
85,10	0.891	0.902	0.911	0.922	0.500	0.479	0.493	0.477	
119.14	0.860	0.892	0.872	0.891	0.379	0.365	0.374	0.362	
153.18	0.81 6	0.850	0.837	0.850	0.311	0.304	0.303	0.305	
187.22	0.773	0.818	0.809	0.811	0.275	0.269	0.263	0.271	
221.26	0.736	0.791	0.792	0.783	0.252	0.249	0.232	0.250	

TABLE 27 Activity Coefficients (Φ_n) - Experimental (23) and calculated by 3 methods Methane - Ethane Mixtures at 21.1° C and Methane mol fraction 0.738

	Nethane				Ethane				
P(atm 17.02	Exper. 0.966	Meth. 1 0.978	2 0.967	3 0.970	Exper. 0.893	Meth. 1 0.895	2 0.883	3 0.890	
51.0 6	0.90 6	0.923	0.926	0.914	0.696	0.697	0.676	0.698	
85.10	0.853	0.879	0.873	0.870	0.537	0.536	0.522	0.530	
119.14	0.805	0.844	0.825	0.844	0.422	0.417	0.408	0.403	
153.18	0.757	0.820	0.783	0.798	0.348	0.346	0.339	0.345	
187.22	0.722	0.793	0.754	0.767	0.302	0.302	0.302	0.30 6	
221.26	0.695	0.764	0.730	0.743	0.274	0.278	0.268	0.280	

TABLE 28 Activity Coefficients (ϕ_n) - Experimental (23) and calculated by 3 methods Methane - Ethane Mixtures at 21.1° C and Methane mol fraction 0.882

	Met	hane		Ethene				
P(atm) 17.02	Exper. 0.968	Meth. 1 0.976	2 0 . 968	3 0.968	Exper. 0.887	Meth. 1 0.902	2 0.889	3 0.900
51.0 6	0.909	0.896	0.914	0.910	0.693	0.710	0.694	0.716
85.10	0,857	0.8 66	0.855	0.860	0.535	0.584	0.547	0.561
119.14	0.811	0.827	0.805	0.818	0.417	0.480	0.441	0.455
153.18	0.773	0.796	0.762	0.780	0.336	0.393	0.364	0.381
187.22	0.741	0.765	0.725	0.753	0.285	0.338	0.321	0,333
221.26	0.718	0.748	0.704	0.732	0.251	0.310	0.295	0,303

 TABLE 29

 Activity Coefficients (\$) - Experimental (23) and calculated by 3 methods

 Methane - Ethane mixtures at 54.4° C and Methane mol fraction 0.319

	Net	hane		Ethane					
P(atm) 17.02	Exper. 0.978	Meth. 1 1.011	2 1.007	3 0.987	Exper. 0.921	Meth. 1 0.910	2 0,901	3 0.909	
51.0 6	0.967	1.016	1.012	0.988	0.753	0.724	0.732	0.734	
85.10	0.988	1.042	1.024	1.016	0.598	0.561	0.586	0.582	
119.14	1.017	1.105	1.035	1.041	0.484	0.458	0.487	0.469	
153.18	0.944	1.068	1.047	0.997	0.413	0.384	0.418	0.411	
187.22	0.958	1.047	1.058	0.928	0.372	0.346	0.370	0.367	
221.26	0.924	1.022	1.075	0.928	0.346	0.322	0.342	0.348	

TABLE 30Activity Coefficients (an) - Experimental (23) and calculated by 3 methodsMethane - Ethane mixtures at 54.4° C and Methane mol fraction 0.555

	Ket	hane			Sthane					
P(ata) 17.02	Exper. 0.976	Meth. 1 0.995	2 0.989	0.980	A:per. 0.927	Meth. 1 0.911	2 0,894	3 0.913		
51.06	0.938	0.971	0.964	0.954	0.779	0.745	0.752	0.759		
85.10	0.910	0.961	0.939	0.929	0.643	0.607	0.619	0.623		
119.14	0.887	0.970	0.917	0.924	0.533	0.499	0.516	0.513		
153.18	0.863	0.973	0.895	0.905	0.457	0.425	0.444	0.445		
187.22	0.838	0.952	0.873	0.881	0.409	0.382	0.399	0.402		
221.26	0.814	0.941	0.854	0.860	0.379	0.352	0.370	0.374		

TABLE 31

 Activity Coefficients (4).) - Experimental (23) and calculated by 3 methods

 Methane - Ethane mixtures at 54.4° C and Methane Mol fraction 0.738

	Met	hane				Ethene	4	•
P(atan) 17.02	Exper. 0.975	Meth. 1 0.990	2 0.980	3 0.980	Exper. 0.927	Meth. 1 0.920	2 0.918	3 0.920
51.06	0.930	0.952	0.948	0.944	0.789	0.768	0.768	0.771
85.10	0.892	0.938	0.911	0.913	0.667	0.652	0.642	0.647
119.14	0.859	0.910	0.871	0.888	0 .5 65	0.551	0.542	0.552
153.18	0.832	0.901	0.837	0.863	0.488	0.466	0.474	0.484
187.22	0.808	0.887	0.809	0.847	0.434	0.417	0.424	0.435
221.26	0.789	0.884	0.792	0.831	0.397	0.378	0.396	0.402

 TABLE 32

 Activity Cuefficients(a) - Experimental (23) and calculated by 3 methods

 Methane - Ethane mixtures at 54.4° C and Methane mol fraction 0.882

	Me	thane			Ethene				
P(atm) 17.02	Exper. 0.978	Meth. 1 0.988	2 0.981	0.977	Exper. 0.915	Meth. 1 0.928	2 0 . 922	3 0.924	
51.06	0.937	0.960	0.927	0.938	0.764	0.794	0.785	0.797	
85.10	0.901	0.926	0.898	0.906	0.640	0.678	0.664	0.671	
119.14	0.870	0.906	0.857	0.875	0.540	0.584	0.568	0.584	
153.18	0.844	0,862	0.823	0.852	0.465	0.503	0.502	0.511	
187.22	0.823	0,841	0.793	0.832	0.409	0.453	0.453	0.465	
221.26	0.807	0.831	0.772	0.816	0.367	0.416	0.423	0.430	

TABLE 33 Activity Coefficients (4) - Experimental (23) and calculated by 3 methods Methane - Ethane mixtures at 88.0° C and Methane mol fraction 0.319

	Methane					Ethar	thane				
P(atm) 17.02	Exper. 0.985	Meth. 1 1.013	2 1.008	3 0.990	Exper. 0.942	Meth. 1 0.931	2 0.929	3 0.932			
51.06	0.971	1.037	1.015	0.987	0.821	0.799	0.80 6	0.805			
85.10	0.975	1.063	1.027	0.997	0.708	0.671	0.695	0.690			
119.14	0.981	1.13	1.041	1.004	0.616	0.580	0.605	0.599			
153.18	0.975	1.187	1.057	1.008	0.549	0.522	0.535	0.537			
187.22	0.961	1.182	1.070	0.990	0.503	0.472	0.490	0.494			
221.26	0.944	1.195	1.085	0.973	0.472	0.439	0.459	0.464			

TABLE 34 Activity Coefficients (a_n) - Experimental (23) and calculated by 3 methods Methane - Ethane mixtures at 88.0° C and Methane mol fraction 0.555

	Methane				Sthese				
P(atm) 17.02	Exper. 0.981	Meth. 1 1.001	2 0 .992	3 0.988	Exper. 0.931	Meth. 1 0.937	2 0.935	3 0.937	
51.06	0.952	0.990	0.972	0.969	0.842	0.807	0.819	0.819	
85.10	0.928	1.002	0.955	0.958	0.744	0.709	0.712	0.711	
119.14	0.908	1.005	0.941	0.946	0.660	0.619	0.623	0.632	
153.18	0.891	1.010	0.930	0.940	0.594	0.541	0.558	0.567	
187.22	0.876	1.020	0.920	0.930	0.545	0.490	0.512	0.521	
221.26	0.861	1.022	0.913	0.919	0.511	0.451	0.481	0.490	

TABLE 35 Activity Coefficients (ϕ_n) - Experimental (23) and calculated by 3 methods Methane - Sthane mixtures at 88.0° C and Methane mol fraction 0.738

	Xet	hone		Ethape						
P(ata) 17.02	Exper. 0.981	Meth. 1 0.996	2 0.990	3 0.981	Exper. 0.947	Meth. 1 0.937	2 0.937	3 0.941		
51.06	0.947	0.996	0.966	0.964	0.846	0.832	0.828	0.832		
85.10	0.919	0.976	0.942	0.944	0.754	0.724	0.727	0.737		
119.14	0.895	0.960	0.918	0.924	0.674	0.641	0.645	0.662		
153.18	0.876	0.945	0.897	0.912	0.609	0.562	0.580	0.600		
187.22	0.861	0.934	0.877	0,901	0.559	0.515	0.533	0.553		
221.26	0.848	0.929	0.859	0.894	0.522	0.482	0.501	0.521		

 TABLE 36

 Activity Coefficients (%) - Experimental (23) and calculated by 3 methods

 Methane - Ethane mixtures at 88.0° C and Methane mol fraction 0.882

	Me	thane		Sthene				
P(atm) 17.02	Exper. 0.984	Meth. 1 0.994	2 0 .9 87	3 0.983	Exper. 0.933	Meth. 1 0.942	2 0.943	3 0.943
51.0 6	0.956	0.989	0.961	0.959	0.813	0.847	0.841	0.842
85.10	0.931	0.964	0.933	0.938	0.712	0.747	0.745	0.761
119.14	0.911	0.943	0.906	0.919	0.629	0.667	0.666	0. 696
153.18	0.896	0.928	0.881	0.902	0.563	0.604	0.604	0.630
187.22	0.883	0.915	0.855	0.890	0.511	0.555	0.555	0.584
221.26	0.873	0,905	0.838	0.882	0.470	0.518	0.525	0.537

		TABLE 37			
Activity Coefficients	(en) -	Experimental	(23) and	calculated	by 3 methods
Methana - Ethane m	1 xtures	at 121.3° C	and Methar	ne mol fract	ion 0.319

	Net	hane				Sthan	3	
P(atm) 17.02	Exper. 0.988	Meth. 1 1.019	2 1.009	3 0.996	Exper. 0.956	Meth. 1 0.949	2 0.949	3 0.950
51.06	0.975	1.033	1.020	0.998	0.867	0.833	0.858	0.852
85.10	0.974	1.079	1.034	1.005	0.783	0.752	0.770	0.765
119.14	0.978	1.129	1.052	1.008	0.712	0.674	0.695	0.693
153.18	0.981	1.181	1.068	1.01 6	0.655	0.609	0.635	0.639
187.22	0.981	1.218	1.081	1.014	0.613	0.563	0.591	0.595
221.26	0.977	1.237	1.100	1.010	0.582	0.531	0.558	0.567

 TABLE 38

 Activity Coefficients (\$\$) - Experimental (23) and calculated by 3 methods

 Methane - Ethane mixtures at 121.3° C and Methane mol fraction 0.555

	Met	hane				Ethane					
P(atm) 17.02	Exper. 0.985	Meth. 1 1.008	2 0.997	3 0.991	Expe r. 0.962	Meth. 1 0.949	2 0.951	3 0.953			
51.0 6	0.961	1.022	0.984	0.982	0.886	0.853	0.861	0.861			
85.10	0.942	1.031	0.974	0.975	0.814	0.771	0.779	0.782			
119.14	0.926	1.038	0.966	0.968	0.752	0.692	0.709	0.717			
153.18	0.915	1.038	0.959	0.963	0.700	0. 6 30	0.649	0.663			
187.22	0.905	1.042	0.953	0.960	0.659	0.575	0.603	0.622			
221.26	0.898	1.043	0.947	0.95 6	0.628	0.547	0.575	0.592			

TABLE 39 Activity Coefficients (ϕ_n) - Experimental (23) and calculated by 3 methods Methane - Sthane mixtures at 121.3° C and Methane mol fraction 0.738

	Met	hane				Etha	19	
P(ata) 17.02	Exper. 0.985	Meth. 1 0.998	2 0.991	3 0.987	Exper. 0.961	Meth. 1 0.949	2 0.954	3 0.954
51.0 6	0.959	1.013	0.976	0.993	0.886	0.868	0.873	0.889
85.10	0.938	0.998	0.961	0.963	0.816	0.779	0.793	0.798
119.14	0.921	0.991	0.948	0.954	0.755	0.707	0.727	0.737
153.18	0.907	0.985	0.935	0.944	0.705	0.647	0.671	0.689
187.22	0.897	0.985	0.925	0.939	0.665	0.601	0.627	0.647
221.26	0.890	0.988	0.918	0.934	0.633	0.572	0.596	0.617

TABLE 40 Activity Coefficients (ϕ_n) - Experimental (23) and calculated by 3 methods Methane - Ethane mixtures at 121.3° C and Methane mol fraction 0.882

	Net	hane				Ethene	3	
P(atm) 17.02	Exper. 0.989	Meth. 1 0.996	2 0.992	3 0.990	Exper . 0.945	Meth. 1 0.951	2 0.955	3 0.958
51.06	0.969	1.002	0.973	0.973	0.848	0.876	0.877	0.885
85.10	0.952	0.990	0.957	0.958	0.766	0.801	0.802	0.818
119.14	0.939	0.981	0.941	0.948	0.699	0.731	0.740	0.760
153.18	0.928	0.966	0.927	0.936	0.644	0.671	0.684	0.713
187.22	0.921	0.965	0.91 6	0.929	0.599	0.634	0.645	0.673
221.26	0.91 6	0.959	0.90 6	0.925	0.563	0.600	0.609	0.645

Activity Coefficients (ϕ_n) - Experimental (21) and calculated by 3 methods Methane-nButane mixtures at 21 and 54.6°C, Methane mol fract. as indicated T- 21°C Ethane P(stan) ¥**n** Methane Exper. Meth.l 2 Exper. Neth. 1 2 3 0.810 0.884 0.861 0.878 6.81 0.707 0.997 0.995 0.997 0.995 0.675 0.746 0.685 0.706 20.43 0.845 0.972 0.974 0.962 0.971 6.81 0.894 0.990 0.989 0.987 1.007 0.835 0.914 0.903 0.923 27.23 0.894 0.964 0.959 0.951 0.954 0.497 0.698 0.637 0.647 0.759 0.874 0.837 0.822 0.976 0.981 0.974 0.973 1362 0.970 27.23 0.970 0.952 0.963 0.949 0.950 0.587 0.741 0.682 0.705 0.367 0.547 0.455 0.471 54.46 0.970 0.908 0.911 0.901 0.906 102.15 0.970 0.838 0.849 0.822 0.835 0.180 0.274 0.243 0.253

TABLE 41

136.2 0/970 0.798 0.809 0.776 0.796 0.118 0.226 0.181 0.161

204.3	0.970	0.739	0.751	0.706	0.739	0.063	0.140	0.123	0.099

7. 54.4°C 6.81 0.475 1.001 1.025 1.013 1.039 0.852 0.891 0.871 0.873 0.857 0.914 0.893 0.907 6.81 0.707 0.995 0.999 1.002 1.005 0.672 0.768 0.703 0.741 20.43 0.707 0.993 1.003 1.005 0.995 27.23 0.845 0.976 0.981 0.971 0.974 0.582 0.731 0.701 0.720 102.15 0.845 0.914 0.925 0.907 0.921 0.209 0.352 0.270 0.271 0.628 0.803 0.746 0.744 27.23 0.935 0.969 0.981 0.968 0.967 0.353 0.565 0.481 0.492 68.10 0.945 0.926 0.938 0.919 0.926 136.2 0.935 0.863 0.873 0.840 0.869 0.180 0.329 0.276 0.263 204.3 0.935 0.821 0.834 0.784 0.832 0.115 0.232 0.221 0.175

Activity Coefficients (ϕ_n) -Experimental (21) and calculated by 3 methods Methane-mButane mixtures at 88°C, Methane mol fraction as indicated

P(atm)	УN	Expers	Mathane Experm Meth. 1 2			Exper. 1	Sthane sth. 1 2 3			
6 .81	0.287	0.997	1.044	1.039	1.006	0.88 6	0.905	0.893	0.911	
13.62	0.609	0.995	1.017	1.018	1.010	0.789	0.866	0.835	0.846	
27.23	0.609	1.002	1.021	1.034	1.018	0.621	0.735	0.682	0.716	
6 .81	0.783	0.994	0.999	0.995	0.992	0,890	0.945	0.931	0.916	
34.05	0.783	0.978	0.995	0.985	0.98 6	0.580	0.746	0.693	0.713	
102.15	0.783	0.959	0.980	0.968	0.979	0.261	0.433	0.338	0.357	
27.23	0.845	0.981	0.991	0.985	0.982	0.650	0.818	0.767	0.778	
68.10	0.845	0.955	0.973	0.959	0.967	0.400	0.608	0.521	0.534	
136.2	0.845	0.923	0.940	0.921	0.935	0.230	0.385	0.319	0.314	
204.3	0.845	0.902	0.919	0.885	0.915	0.158	0.279	0.267	0.226	
6.81	0.894	0.995	0.995	0.998	0.993	0.894	0.954	0.955	0.949	
34.05	0.894	0.975	0.984	0.978	0.981	0.603	0.794	0.744	0.762	
102.15	0.894	0.931	0.955	0.938	0.935	0.315	0.520	0.427	0.438	
204.3	0.894	0.886	0.889	0.863	0.899	0.180	0.312	0.303	0.255	
13.62	0.970	0.989	0.997	0.989	0.981	0.809	0.929	0.908	0.972	
34.05	0.970	0.974	0.986	0.971	0.980	0.609	0.826	0.785	0.795	
68.10	0.970	0.950	0.973	0.946	0.944	0.415	0.690	0.610	0.619	
136.2	0.970	0.911	0.929	0.888	0.910	0.243	0.493	0.415	0.418	
204.3	0.970	0.885	0.899	0.840	0.884	0.168	0.384	0.357	0.313	

5

Activity Coefficients (ϕ_n)-Exreimental (21) and calculated by 3 methods Methane-mButane mixtures at 121.2°C, Methane mol fraction as indicated

P(stm)	354		Metha	30			Ethan	•	
	- <i>1</i> 94	Exper.	Noth. 1	2	3	Exper.	Metth. 1	2	3
13.62	0.475	0.997	1.029	1.034	1.013	0.828	0.878	0.855	0.874
34.05	0.475	1.033	1.076	1.107	1.065	0.613	0.710	0.6622	0.691
68.10	0.475	1.111	1.189	1.305	1.195	0.366	0.481	0.435	0.445
136.2	0.475	1.231	1.375	*	1.222	0.190	0.268	0.232	0.256
204.3	0.475	1.160	1.322	*	1.164	0.149	0.218	0.177	0.207
20.43	0.707	0.990	1.008	1.006	1.000	0.762	0.869	0.828	0.848
54.46	0.707	0.992	1.011	1.011	1.012	0.516	0.685	0.602	0.636
102.15	0.707	0.999	1.029	1.022	1.025	0.339	0.496	0.398	0.419
170.25	0.707	0.998	1.048	1.041	0.970	0.224	0.337	0.292	0.290
13.62	0.845	0.993	1.001	0.993	0.990	0.837	0.930	0.904	0.919
68.10	0.849	0.969	0.953	0.979	0.978	0.493	0.699	0.606	0.622
136.2	0.845	0.950	0.979	0.950	0.963	0.330	0.500	0.412	0.418
204.3	0.845	0.936	0.964	0.933	0.951	0.244	0.399	0.352	0.322
6.81	0.935	0.996	0.995	0,993	0.995	0.913	0.965	0.961	0.974
<u> </u>	0.935	0.983	0.998	0.981	0.982	0,662	0.856	0.820	0.838
68.10	0.935	0.968	0.996	0.967	0,965	0.493	0.744	0.677	0.690
136.2	0.935	0.941	0.968	0.945	0.942	0.344	0.566	0.480	0.490
204.3	0.935	0.936	0.950	0.912	0.927	0,265	0.469	0.420	0.392

* Above range of Figure 3

Activity Coefficients (Φ_n) -Experimental (10) and calculated by 3 methods Ethane-Ethylene (v-L) at -17.8°C. Ethane mol fraction as indicated

P(atan)	Ma	Ethane				Ethylene			
	*6	Exper.	Noth. 1	2	3	Exper.N	eth. 1	2	*
16.17	0.848	0.939	0.797	0.783	0.814	5.61	0.865	0.859	*
18.58	0.601	1.272	0.765	0.755	0.809	2.085	0.834	0.832	*
20.81	0.402	1.830	0.735	0.730	0.798	1.360	0.810	0.807	*
23.04	0.229	3.084	0.708	0.700	0.787	1.024	0.787	0.782	*
25.24	0.074	9.17	0.682	0.680	0.778	0.830	0.764	0.760	*

"Ethylene not calculated by Methid 3--values will approximate those of Methods 1 and 2

TABLE 45

Activity Coefficients (ϕ_n) -Experimental (22) and calculated by 3 methods Methane-mEutane (vL) at 21 C. Methane mol fraction as indicated * Not calculated by Method 3 Nethane nButane P(atm) y_M Exper. Meth. 1 3 Exper.Meth. 1 2 3 2 0.923 0.898 0.918 2.72 0.212 1.015 1.056 1.030 ٠ 4.08 0.425 1.080 1.028 1.012 ₩. 0.830 0.898 0.882 0.731 0.884 0.853 5.45 0.520 1.122 1.022 1.011 ٠ 0.649 0.863 0.828 6.08 0.575 1.144 1.016 1.010 10.90 0.643 1.178 1.007 1.010 # 0.492 0.804 0.745 13.61 0.676 1.185 1.006 1.009 ₩ 0.396 0.772 0.697 0.278 0.687 0.590 20.42 0.707 1.189 1.000 1.000 4 34.03 0.734 1.167 0.981 0.986 0.169 0.523 0.440 # 4 54.48 0.745 1.132 0.950 0.968 0.103 0.338 0.245 ۰ 0.068 0.172 0.120 0.047 0.062 0.034 81.61 0.746 1.070 0.969 0.953 ÷ ٠ 1.097 129.25 0.687 1.030 1.003 0.736 1.037 0.978 0.950 109.0 0.056 0.100 0.060 ÷ 0.043 0.050 0.028 ۴ 131.0 0.652 1.080 1.080 1.155 0.052 0.082 0.043 119.1 0.719 1.012 0.981 0.986

Parameter Ranges - Method 1

1

System	Points	<u>y</u> 1	Prin	Tria	Vm		Z _m
A-B	3 6	0.20.8	.0.22.6	1.161.68	0.560.99	0.25.5	0.50.99
H-N	32	0.20.8	1.759.	2.55.3	1.013.2	0.2(-)1.11	0.982.14
H-N (pseudo)	32	0.20.8	1.643.	2.5-4.7	1.012.41	0.2(-)0.92	1.02.1
N-B	28	0.319	0.36-4.63	1.091.47	0.33-0.97	0.47.60	0.630.96
N-8	28	0.555	0.36-4.69	1.221.63	0.470.98	0.36.00	0.680.98
N-B	28	0.738	0.364.76	1.331.79	0.590.99	0.35.20	0.740.98
N-S	28	0.882	0.374.79	1.441.93	0.680.99	0.24.60	0.810.99
X-3	56	0.280.97	0.16-4.51	1.011.92	0.510.99	0.15.80	0.61-0.99
(e-p) _{vl}	5	0.080.85	0.33-0.50	0.850.90	0.760.81	1.62.30	0.680.78
(M-B) _{VL}	14	0.210.75	0.073.07	0.781.18	0.370.95	0.37.40	0.460.96

67

Parameter Ranges - Method 2

System	Points	<u>y1</u>	Pr	T _r	Br	<u> </u>
A - B	36	0,20,8	0.2-2,6	1.051.97	0.6-1.75	1.062.90
H - N	32	0.20.8	1.580	2.168.20	0.423.10	2.19 1
H - N (pseudo)	32	0.20,8	1.580	2.168.20	0.423.10	2.19 ?
M - B	28	0.319	0.354.84	0.962.07	0.871.45	0.972.50
M - E	28	0.555	0.35-4.84	0.962.07	0.781.29	1.002.20
N - B	28	0.738	0.354.84	0.972.07	0.711.17	1.022.11
N - B	28	0,882	0.354.84	0.972.07	0.651.08	1.042.08
N - B	56	0.280.97	0.155.60	0.692.07	0.432.03	0.793.22
$(E - E)_{VL}$	5	0.080.85	0.33-0.52	0.840.90	0.920.98	0.84
(M - B) _{VL}	14	0.210.75	0.063.65	0.691.54	0.56-2.24	0.703.65

ŝ,

68

Parameter Ranges - Method 3

System	Point	<u>18 71</u>	BP	<u>A²/B</u>	log &	<u> </u>	<u> </u>
A-E	36	0.20.8	0.0110.185	2.34.0	(-)0.01(-)0.26	0.031.06	0.01-0.33
R-N	32	0.20.8	0.0451.12	0.411.22	(-)0.01 0.32	0.020.49	0.020.63
H-N (pseudo	32	0.20.8	0.0371.08	0.54-1.28	(-)0.01 0.254	0.020.50	0.020.64
M-E	28	0.319	0.020.36	2.814.36	(-)0.016-(-)0.452	0.051.64	0.010.67
M-E	28	0.555	0.0190.32	2.423.73	(-)0.011-(-)0.32	0.041.23	0.01-0.48
X-E	28	0.738	0.0170.31	2.113.25	(-)0.01(-)0.24	0.030.95	0.010.38
N-E	28	0.882	0.016-0.29	1.892.88	(-)0.01(-)0.18	0.030.77	0.010.30
M-B	56	0.280.97	0.01-0.361	1.905.00	(-)0.01(-)0.33	0.031.25	0.010.52
(B-E) _{VL}	5	0.080.85	0.0410.05	5.86.30	(-)0.09(-)0.11	0.250.34	0.220.37
(M-B) _{VL}	14	0.210.75	0.008-0.26	3.728.00	NOT CALCULATED		

69

÷.

Generalized Charts used for Method 1 with Systems Calculated in this Peper

Generalized	Referenc	· Page	Range of Recudereduced		9	Systems for which used (I)				
Mixture Property	Tumber	Fig. No.	Property P_III	7 <u>792</u>	<u>1-8</u>	<u>H-N</u>	<u>N-E</u>	M-B	(E-E)VL	<u>(M-B</u>)vi
Z _m	25	P.108-Fig. 3	0-5.0	0.8-2.0	x	X	X	X		x
	25	P.109 -Fig. 4	0-50.0	1.6-15.0		X				
	13	Fig. 103- Low Pr.	0-0-4	0.5-1.2	x				x	x
	13	Fig. 103- High Pr.	0.1-30.0	0.7-15.0		x				ı
V _m	25	P.198-Fig.1	0+3.0	0.75-2.2	X					
	25	P.199-Fig.2	0-20.0	1.0-3.5		I				
	25	P.199-Fig.3	0-70.0	3.5-35.0		X				
	13	Fig. 142- Low Pr.	0-0.5	0.5-1.6			x			
	13	Fig. 142- High Pr.	0.2-40.	0.5-10.0		x	X	x	x	x
∆ H/T _{cm}	6	P.140-Fig.48	0.01-10.0	0.6-4.0	x		X	X	x	x
∆ H/Ŧ	25	P.219-Fig.4	0.1-40.	0.7-6.0		X				

70

70

ŝ

Parameter Ranges - Charts for Method 2

Fig. No.	Peremeter	Range
1	Tra	0.4 - 2.4
	p ^{xn}	0.3 - 2.1
	₽ <mark>v</mark>	0.5 - 4.0
2	7.73	0.4 - 2.4
	P ^{ILIE}	0.3 - 3.3
	e <mark>v</mark>	0.5 - 4.8
3	P _{TR}	0.0 -10.0
	on	0.5 - 4.8
		0.0 - 1.4

TABLE 51

Parameter Ranges - Charts for Method 3

Paremeter	Range
BP	0.0 - 9.0
а ² /в	0.0 -11.0
Z _m	0.03 - 9.53
log đ	0.598-3.9
u	0.0 - 2.75
¥	0.004 - 4.27

,

Critical Constants and Boiling Points of Components of all Systems

Substance	<u>T_{on} (°C)</u>	P _{CR} (atmos.)	b _n (boil. pt. at 1 atmos. ^{OC})		
Argon	- 122.	48.	- 185.7		
N-Butane	153.	36.	0.6		
Ethane	32.1	48.8	- 88.3		
Ethylene	9.7	50+9	- 103.8		
Hydrogen	- 239.9	12.8	- 252.7		
Methane	- 82.5	45.8	- 161.4		
Titrogen	- 147.1	33.5	- 195.8		

ć

金融业 化化学生物酶	
and the second second second second	Address of the

York & Weber (27) Correction Factor () Data ϕ_{*} (T_c/470)²

T _r	1.0	1.05	1.10	1.20	1.3	1.4	1.5	1,6
B	0.37	0.28	0.25	0.20	0,18	0.16	0.15	0.14

TABLE 54

	York & Weber	Correction 0.55	Factor 5	Ó for System M-E, ym - 0.319,
T, K	294.3	327.6	361.1	394.4
8 m (* . .	M - 0.319			T _{CM} , ⁹ K # 268.7
T _r	1.091	1.219	1,342	1.468
n	C.255	0,196	0.172	0.153
Ø	0.867	0.996	0.9085	0.918
200 m (3	0.555			T _{cm} , ^o K . 241.7
T _r	1.220	1.355	1.493	2.632
n	0.196	0.169	0.151	0.137
φ	0.878	0.894	0.905	0 .91 3

Effect of York & Weber & Correction Factor

to $\Delta H/T_{\rm COM}$ on Method 1 Activity Coefficients

for System N - E

 $T = 21^{\circ}$ C, $y_{\rm M} = 0.319$, $\phi = 0.867$

P (atm)	17.02	51.06	85.10	119.14	153.18	187.22	221.26
∆R/T _{em}	0.71	2.65	5.58	6.80	7.23	7.43	7.57

Methane - M

Exper,	1.000	1.000	1.000	1.000	1.000	1.000	1.000
without corr	r. 0.996	0.981	1.108	1.046	0.963	0.911	0.879
with corr.	0.984	0.935	1.002	0.927	0.848	0.799	0.769

Exper.	0.887	0.635	0.418	0.301	0.248	0.222	0.208
without corr.	0.873	0.595	0.386	0.286	0.241	0.218	0.204
with corr.	0.879	0.609	0.403	0.302	0.256	0.232	0.217

Effect of York & Weber \cancel{O} Correction Factor to $\triangle H/T_{cm}$ us Mathed 1 Activity Coefficients for System M - E T = 54.4° C, $y_{\rm H}$ = 0.319, \cancel{O} = 0.896

P(atm)	17.02	51.0 6	85.10	119.14	153.18	187.22	221.26
∆u/T _{cm}	0.56	1.80	3.27	4.62	5.35	5.75	6 .0

Methane - M

Exper.	0.978	0.967	0.988	1.017	0.944	0.958	0.924
Without corr.	1.011	1.016	1.042	1.105	1.068	1.047	1.022
With corr.	1.002	0.991	0.995	1.035	0.993	0.965	0.939

Sthene - g

Exper.	•	0.921	0.753	0.598	0.484	0.413	0.372	0.346
Withou	t corr.	0.910	0.724	0.561	0.458	0.384	0.346	0.322
With	corr.	0.914	0.732	0.572	0.471	0.398	0.360	0.335

THELE 57

Effect of Yark and Weber O correction Factor to $\Delta H/T_{com}$ on

Method 1 Activity Coefficients for System M - E

T = 88° C, 3 = 0.319, 0 = 0.9085

P(atm)	17.02	51.06	85.10	119.14	153.18	187.22	221.26
<u>∧ H/?</u>	0.45	1.38	2.42	3.5	4.35	4.78	5.17

Methane - M

Exper.	0.985	0.971	0.975	0.981	0.975	0.961	0.944
Without corr.	1.013	1.037	1.063	1,130	1.187	1.182	1.195
With corr.	1.008	1.019	1.032	1.081	1.125	1.116	1.119

Exper.	0.942	0.821	0.708	0.616	0.549	0.503	0.472
Without corr	. 0.931	0.799	0.671	0.580	0.522	0.472	0.439
With corr.	0.942	0.805	0.681	0.591	0.529	0.495	0.452

Effect of York and Weber ϕ Correction Factor to $\Delta H/T_{\rm CHH}$ on

Method 1 Activity Coefficients for System M - E

т. 121.2° с, уд. = 0.319, ф. 0.918

P(atm)	17.02	51.06	85.10	119.14	153.18	187.22	221.26
∆ H/T	0.38	1.14	1.90	2.70	3.45	4.00	4.37

Methane - M

Exper.	•	0.988	0.975	0.974	0.978	0.981	0.981	0.977
Withou	te corr.	1.019	1.033	1.079	1.129	1.181	1.218	1.237
With	corr.	1.015	1.021	1.048	1.095	1.138	1.165	1.178

Ethane - B

Exper.	ł	0.95 6	0.867	0.783	0.712	0.655	0.613	0.582
Withou	t Corr.	0.949	0.833	0.752	0.674	0.609	0.563	0.531
With	corr.	0.951	0.837	0.759	0.684	0.620	0.574	0.544

Effect of York and Weber to Correction Factor to AH/Tom on Method 1 Activity Coefficients for System N- B T = 21° C, YM = 0.555, d = 0.878 P(ata) 51.06 85.10 119.14 153.18 187.22 221.26 17.02 ∆ H/T 0.56 1.81 3.33 4.70 5.38 5.79 6.00 Methane - M 0.965 0.918 0.891 0.860 0.816 0.773 0.736 Exper. Without corr. 0.985 0.931 0.902 0.892 0.850 0.818 0.791 With corr. 0.980 0.914 0.871 0.844 0.803 0.774 0.743 Ethane - R 0.994 0.681 0.500 0.379 0.311 0.275 0.252 Exper. Without corr. 0.887 0.652 0.479 0.365 0.304 0.269 0.249 0.894 0.676 0.501 0.388 0.327 With corr. 0.290 0.270

Effect of York and Weber ϕ Correction Factor to $\Delta H/T_{cm}$ on

Method 1 Activity Coefficients for System M-E

T = 54.4° C, y_H = 0.555, d = 0.994

P(atm)	17.02	51.06	85.10	119.14	153.18	187.22	221.26
∧ H/T _{em}	0.46	1.40	2.41	3.49	4.32	4.78	5.10

Methane - M

Exper.	0.976	0.938	0.910	0.887	0.863	0.838	0.814
Without corr	0.995	0.971	0.961	0.970	0.973	0.953	0.941
With corr.	0.990	0.959	0.938	0.939	0.935	0.916	0.898

Exper.		0.927	0.779	0.643	0.533	0.457	0.409	0.379
Without	COIT.	0.911	0.745	0.607	0.499	0.425	0.382	0.352
With c	er.	0.916	0.757	0.624	0.518	0.447	0.404	0.373

Effect of York and Weber & Correction Factor to $\triangle H/T_{cm}$ on

Method 1 Activity Coefficients for System M-E

T = 88° C, yH = 0.555, d = 0.905

P(etm)	17.02	51.06	85.10	119.14	153.18	187.22	221.26
∆u/T _{cm}	0.36	1.08	1.82	2.53	3.25	3.80	4.22

Methane - M

Exper.		0.981	0.952	0.928	0.908	0.891	0.876	0.861
Withou	t corr.	1.001	0.990	1.002	1.005	1.010	1.020	1.022
With	corr.	1,000	0.981	0.988	0.984	0.982	0.988	0.988

Exper.	•	0.931	0.842	0.744	0.660	0.594	0.545	0.511
Withou	t corr.	0.937	0.807	0.709	0.619	0.541	0.490	0.451
With	corr.	0.939	0.815	0.722	0.635	0.559	0.509	0.472

Effect of York and Weber & Correction Factor to $\triangle H/T_{cm}$ on

Method 1 Activity Coefficients for System M-E

T = 121.° C, ym = 0.555, 6 = 0.913

P(atm)	17.02	51.06	85.10	119.14	153.18	187.22	221.26
∧ H/T _{em}	0.31	0.95	1.52	2.11	2.61	3.03	3.34

Nethane - M

Exper.	Ł	0.986	0.961	0.942	0.926	0.915	0.905	0.898
Withou	t corr.	1.008	1.022	1.031	1.038	1.038	1.042	1.043
With	corr.	1.005	1.014	1.019	1.021	1.016	1.018	1.018

Exper.		0.962	0.886	0.814	0.752	0.700	0.659	0.628
Without	corr.	0.949	C.853	0.771	0.692	0.630	0.575	0.547
with cor	727 •	0.953	0.860	0.781	0.706	0.647	0.597	0.571

§ Deviation of Calculated from Experimental Activity Coefficients - Method 1 - M-E - with and without York & Weber \oint corr. to $\triangle H/T_{CER}$

T = 21, 54.5, 88, 121.2° C yM = 0.319, 0.555

		Nethane		Ethane		
	with .	without	with	without		
P(ata)						
17.02	1.94	2.25	0.65	1.12		
51.0 6	3.74	4.40	2.78	3.93		
85.10	4.29	7.58	3.15	5.35		
119.14	7.19	9.97	3.28	5.75		
153.18	10.37	12.80	4.54	6.26		
187.22	11.31	14.57	4.24	6.75		
221.26	12.91	16.36	5.47	7.18		
Avg. for (56) pot	all ints 7.40	9.72	3.39	5.18		
	24 % imp r	35% im	rovement			

in accuracy

in accuracy

LIST OF SYMBOLS USED

Notes: 1. Subscript or superscript "L" refers to property of liquid and "v" to vapor where distinction is necessary. Capitalized subscripts other than "L" refer to a component. Subscript "n" refers to component "n".

2. With no distinction reference is made to vapor.

a - constant in Method 3 equation of state (Eq. 7). A - system primary parameter in Method 3 - Summation $(y_n A_n)$ An- component primary parameter im Method 3 bo- constant in Method 3 equation of state (Eq. 7) B - system primary parameter in Method 3 - Summation (yn Bn) Bn- component primary parameter in Method 3 bn- molal average atmospheric boiling point of mixture b,- component atmospheric boiling point brm- pseudocritical boiling point of system ϕ - system secondary parameter in Nethod 3 ϕ_{rr} component activity coefficient (vapor) ϕ - York and Weber correction factor for $\Delta H/T_{c}$ fm- fugacity of mixture at system T, P and y fn- fugacity of component at system T, P and y F - free energy \triangle H/T_- enthalpy correction for pressure

 K_{f} - thermodynamic equilibrium constant for gaseous reaction K_{fi} - component vaporization ratio

K"n- component vaporization equilibrium constant

LIST OF STMBOLS USED (Cont'd.)

 Θ_{n}^{V} - component parameter in Method 2 P - system pressure P', - vspor pressure of component Pen - critical pressure of component Prom - pseudo critical pressure of mixture Prm - pseudo reduced pressure of mixture Pro - reduced pressure of component R - universal gas constant 7 - system temperature T.m - pseudo critical temperature of mixture Trm - pseudo reduced temperature of mixture T. - reduced temperature of component x_n - wol fraction of component in liquid u - secondary parameter of Nethod 3 w - secondary parameter of Method 3 Vm - fugacity coefficient of mixture yn - mol fraction of component in vapor Zm - compressibility factor of mixture Ten- component critical temperature

REFERENCES

- 1. Barkelow, C.H.; J. L. Valentine and C.O. Hurd Chemical Engineering Progress 43, P. 25 (1947)
- 2. Bartlett, E.P. Journal of the American Chemical Society <u>49</u>, P. 1955 (1927)
- 3. Benedict, M.; G. B. Webb, L.C. Rubin and L. Friend Chemical Engineering Progress <u>47</u>, P.419, P.449, P.571, P.609 (1951)
- Bennett, C.O. Chemical Engineering Progress Sympsium Series No. 7 49, P.45 (1953)
- De Priester, C.L. Chemical Engineering Progress
 Symposium Series No. 7 49, P.1 (1953)
- Edmister, W.C. "Applications of Thermodynamics to Hydrocarbon Processing - Part XVI - Effects of Pressure on Enthalpy and Entropy". Petroleum Refiner 28, (No. 2)
 P.137 (Feb. 1949)
- 7. Edmister, W.C. and C.L. Ruby Chemical Engineering Progress <u>51</u>, P. 91-4 (Feb. 1955)
- 8. Genson, B.W. and K.M. Watson National Petroleum News -Technical Section 36, R-623 (1944)
- 9. Gibson, C.E. and B. Sosnick Journal of the American Chemical Society 49, P.2172 (1927)
- 10. Hanson, G.H.; R.J. Hogan, F.N. Ruchlen and M.R. Cines Chemical Engineering Progress Symposium Series No. 6 <u>49</u>, P. 37 (1953)

- 24. Smith, K.A. and K.M. Watson Chemical Engineering Progress 45, P. 494 (1949)
- 25. Weber, H.C. Thermodynamics for Chemical Engineers John Wiley and Sons New York, New York, (1939)
- 26. York, R. Transactions of the American Instutute of Chemical Engineers 40, P. 227 (1944)
- 27. York, R. and H.C. Weber Industrial and Engineering Chemistry 32, P. 388 (1940)